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Answer Key for IBPS SO Marketing 

Model Question Paper 2017 
1.  C 2.  B 3.  B 4.  D 5.  D 

6.  D 7.  A 8.  A 9.  B 10.  A 

11.  D 12.  E 13.  C 14.  D 15.  B 

16.  C 17.  E 18.  D 19.  A 20.  B 

21.  A 22.  B 23.  D 24.  B 25.  E 

26.  A 27.  C 28.  B 29.  B 30.  A 

31.  D 32.  C 33.  A 34.  D 35.  B  

36.  C 37.  D 38.  C 39.  E 40.  A 

41.  D 42.  B 43.  B 44.  E 45.  C 

46.  C 47.  A 48.  B 49.  D 50.  C 

51.  D 52.  B 53.  E 54.  D 55.  A 

56.  D 57.  B 58.  C 59.  A 60.  A 

61.  B 62.  A 63.  C 64.  D 65.  D 

66.  B 67.  B 68.  C 69.  A 70.  D 

71.  E 72.  B 73.  D 74.  A 75.  C 

76.  B 77.  A 78.  A 79.  D 80.  C 

81.  E 82.  A 83.  D 84.  B 85.  D 

86.  A 87.  B 88.  D 89.  A 90.  E 

91.  E 92.  D 93.  D 94.  B 95.  D 

96.  E 97.  A 98.  B 99.  E 100.  B 

101.  C 102.  C 103.  D 104.  C 105.  C 

106.  E 107.  C 108.  D 109.  C 110.  A 

111.  A 112.  D 113.  C 114.  E 115.  C 

116.  C 117.  B 118.  A 119.  D 120.  B 

121.  A 122.  B 123.  C 124.  C 125.  E 

126.  E 127.  A 128.  D 129.  C 130.  A 

131.  B 132.  C 133.  B 134.  B 135.  D 

136.  E 137.  C 138.  E 139.  D 140.  C 

141.  C 142.  A 143.  A 144.  C 145.  C 
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146.  C 147.  D 148.  B 149.  C 150.  C 

151. B 152. A 153. A 154. E 155. D 

156. D 157. A 158. D 159. B 160. B 

161. B 162. A 163. C 164. C 165. D 

166. B 167. C 168. D 169. E 170. A 

171. B 172. D 173. A 174. D 175. E 

176. D 177. B 178. D 179. A 180. B 

181. A 182. D 183. A 184. E 185. A 

186. C 187. A 188. C 189. D 190. A 

191. A 192. B 193. E 194. C 195. B 

196. D 197. C 198. D 199. B 200. C 

 

Solutions: 

1. Mobina was brought by the couple who promised to provide her with proper 

living expenses and education and in return she would help them in their 

domestic affairs. The practical scenario was different and she was not given any 

of the promised amenities, not even sufficient food.  Option 3 is the most 

appropriate answer while the rest of the options are either insufficient or 

incorrect. 

2. According to the passage, “Dr. Lenin came across subjugation, exploitation 

and injustice in many forms in 1993, when he started working with Kailash 

Satyarthi and his Bachpan Bachao Andolan. He and his team undertook 

several missions to release bonded child labourers. The plight of these 

children left Dr. Lenin disturbed to the core.”  The plight of the captured 

children was the main reason that inspired him to establish an organization of 

his own. Thus option 2 is the correct answer. 

3. The paragraph tells us about the work done by PVCHR. It works for a number 

of things to make the society better but its main objective is to make everyone 

self reliant through jobs and education. Thus option 1 is the correct answer 

and the rest are less appropriate. According to the passage, “Creating 
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awareness through community-based discussions, campaigns, informal 

education, etc and working with the survivors to make them 

economically self-reliant through jobs, education, etc are the main 

objectives of the organization. PVCHR also helps the survivors in their legal 

cases if there are any.” 

4. The work done by PVCHR is mentioned in the paragraph. Except option 4 all 

other statements have been mentioned. Thus option 4 is the correct answer as 

nothing is mentioned about PVCHR offering scholarships to underprivileged 

children for higher studies people. 

5. All the options mentioned here are correct with respect to the passage, but not 

all of them convey the main idea of the passage. The message that has been 

conveyed in the last part of the passage is the necessity of a good desire and 

determination in every individual to bring a change in the society. Showing 

bravery or spreading education are only some instances. Thus option 5 is the 

correct answer. 

6. According to Dr. Lenin Raghuvanshi the problems prevailing in the society 

mostly hamper the women and children. They have been dominated for a long 

time and it is due to the existing norms prevailing in our society. All problems 

have a common root---- the domination of the male group on others. Thus 

option 4 is the most appropriate answer. 

7. The passage with reference to Mobina states that ‘she was on the ball and took 

the necessary steps’. To be on the ball means ‘to be alert and quick to 

respond’. So it can be said that the  most significant trait in Mobina was her 

desire to improve her life and her bravery and smartness in taking help from 

PVCHR and improving her life. She even continued to be an inspiration for 

other girls among whom she spread the message of education. Thus option 1 is 

the correct answer. 

8. The word ‘hegemony’ means ‘leadership or dominance’, especially by one state 

or social group over others. Thus ‘dominance’ is the word which has the same 
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meaning. Thus option 1 is the correct answer. ‘Descent’ means ‘downfall’. 

E.G. The conspiracy of the ministers caused the descent of the king. 

9. The word ‘veritable’ means ‘genuine’. Thus the words which have opposite 

meaning is deceptive which means ‘misleading’. Options 1 and 4 are synonyms 

of the given word. Thus option 2 is the correct answer. Duplicate is not an apt 

antonym. ‘Apostle’ refers to a disciple. 

10. The word ‘miscreant’ means ‘a person who has done something wrong’. Thus 

option 1 is the correct answer as ‘malefactor’ has the same meaning. The 

meanings of the other words are as follows: 

Altruist: a person who has unselfish regard and devotion to the welfare of 

others. 

E.G. His altruist nature is appreciated by all. 

Benevolent: Kind 

Impudent: not showing due respect for another person. 

E.G. Mohan is an impudent young boy who does not respect his teachers. 

Benefactor: a person who gives money or forward helps to others. 

E.G. Miss Polly adopted Roma and has been her benefactress since then. 

11. The word ‘subjugation’ means ‘to dominate’ or ‘oppress’. Thus option 4 is the 

correct answer. ‘Liberate’ and ‘loosen’ express opposite meanings. ‘Deceive’ 

means to ‘cheat’ and is not synonymous to ‘subjugation’. ‘Destroy’ is also 

irrelevant here. 

12. The word ‘marginalized’ means ‘forcefully made powerless’. Thus the word 

opposite in meaning is ‘elevated’ which means ‘to raise or lift to a higher 

position’. Thus option 5 is the correct answer. ‘Affluent’ means ‘wealthy or 

rich’. 

13. The word ‘patriarchy’ means ‘characteristic of a form of social organization in 

which the male is the family head and title is traced through the male line.’ 

Thus the word having opposite meaning is ‘matriarchy’ which means the 

female taking the lead role in social spaces. Thus option 3 is the correct 
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answer. The meanings of the other words are as follows: 

Antiquated: old fashioned and outdated. 

E.G. The Delhi Science Museum reserves some antiquated machines from the 

nineteenth century. 

Senile: having or showing the weakness or disease of old age. 

E.G. My grandfather is a senile old man. 

14. The idiom ‘on the ball’ means to know a situation well or understand all the 

pros and cons of a thing. Mobina could understand that her life would not 

improve staying in that house thus she sought help from the organization. 

Thus option 4 is the correct answer. 

15. The idiom ‘take with a grain of salt’ means ‘not to take too seriously what 

someone says’. This means Lenin’s words and actions were not taken very 

seriously and he had to face a lot of hardship in his work. Thus option 2 is the 

correct answer. 

16. The paragraph begins with the introduction about how ‘black money’ is an 

integral part of various sectors in India. The sentence with the blank explains 

how black money is present at an individual level also. So, the blank needs an 

adverb which would convey the meaning that ‘in addition’ to the given, the 

details mentioned in the second sentence also exists. Since the blank is 

succeeded by ‘from’, the best fit adverb from options 1, 2 and 3 is option 3 – 

‘apart’. ‘Apart from’ in the given context means ‘as well as’ or ‘in addition to’. 

Options 4 and 5 do not make appropriate sense if put in the blank space, thus, 

option 3 is the correct answer. 

17. ‘Effect’ is a noun and refers to ‘a result or a consequence. E.G. The effect of 

global warming will be immensely harmful for all living organisms. 

‘Affect’ is a verb and means to ‘produce a change or influence something.’ 

It is a general notion that co- curricular activities adversely affect children’s 

studies. ‘Effected’ and ‘affected’ are past tense for the words respectively. 

‘Result’ fails to make any sense in the given sentence. From the sentence, it is 
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evident that the blank needs a verb that would explain how people’s lifestyles 

are influenced by others and hence ‘affected’ is the best fit answer. 

18. As already told, ‘affect’ means ‘to influence something.’ Logically 

speaking, corruption is supposed to badly affect an economy. Thus, ‘adversely’ 

which means ‘against one’s desire or unfavourably’ is the most appropriate 

answer. Though 2, 3, 4 and 5 are all words that are used to denote negative 

emotions, only option 4 fits the best. Option is completely irrelevant in the 

given context. Thus, option 4 is the correct answer. 

19. The given blank needs a verb that would estimate or measure the similarities 

or dissimilarities between India and its neighbouring countries. Options 3 and 

4 are not viable as they mean to point out only the differences. ‘Judge’ does 

not make proper sense in the given blank space. Option 2 would be 

grammatically incorrect. Given the context of the sentence, ‘compared’ makes 

appropriate sense and option 1 is the correct answer. 

20. ‘Disregard’ and ‘Negligence’ are synonymous and means to ignore. 

‘Consideration’ means ‘a payment or reward’. 

‘Study’ means ‘to devote time and attention to gain knowledge’. 

‘Omission’ means ‘to exclude’. 

Note that the sentence under concern talks about paying something 

in adequate amount. It also says that bribe has to be paid. Thus, with respect 

to this context, only ‘consideration’ fits blank (E). 

21. The given sentence talks about extra money given by students apart from the 

admission fees. Thus, ‘fees’ cannot be used again. ‘Salary’ is paid for work done 

and is not applicable in this context. ‘Alms’ are given to beggars and is not 

applicable in this context. ‘Bribe’ refers to the illegal money given to a person 

or an institution and need not be used here as ‘donation’ makes more sense. 

And option 1 is the answer. 

22. The given blank needs an adjective that would define the small percentage of 

total global wealth held in the country’s banking system as described after it. 
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Options 3, 4 and 5 are not applicable as they all mean major or noteworthy. 

‘Few’ is a term applied in case of concrete numbers and is inappropriate in the 

given context. ‘Meagre’ is better applied to percentages, thus option 2 is the 

correct answer. 

23. The given blank needs a word that would express the uniting of the rest of the 

world in comparison to India. This is best expressed by the word ‘combine’ 

whose past tense ‘combined’ is to be used to keep the tense correct. Thus 

option 4 is the correct answer. 

24. The sentence talks about how Swiss bankers have denied what a leading 

newspaper in India have reported. Since it is quite clear from the later 

sentences that the findings of the newspaper do not have any concrete proof, 

the best fit word for the blank is ‘allegation’ which means ‘a claim or assertion 

that someone has done something illegal or wrong, typically one made without 

proof’. Since there are several such reports, the plural form ‘allegations’ is to 

be used, making option 2 the correct answer. ‘Statements’ is not as 

appropriate. 

25. The sentence states that the Swiss banks have not revealed to the world any 

report. These reports are often called publications and are ‘published’ by the 

respective authorities. Thus, option 5 is the correct answer. 

26. The error lies in part 1 of the sentence as the verb ‘is’ is incorrect and needs to 

be replaced with ‘are’. Since the article ‘a’ is present after ‘and’ so the nouns 

are plural. Thus option 1 is the correct answer. 

27. The correction is in the usage of the preposition ‘for’. The preposition ‘for’ is 

used to indicate the use of something or usually means ‘because of’. The 

correct preposition to be used is ‘of’ which means ‘connected with’. Therefore, 

the correct phrase is ‘on the face of all those’. 

28. We need to use the article ‘the’ here before poor and the ill, then only will the 

sentence make sense. On using the article the meaning of the sentence gets 
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clear that only the ill and the poor people will receive monetary help as the 

definite article helps to specify who will receive the help. 

29. The correct co-ordinating conjunction needed here is 'and' which joins two 

nouns 'apples+strawberries'. So the error is in option 2 

30. The correction is in the article ‘a’. The article ‘a’ is an indefinite article. The 

correct usage is by replacing ‘a’ with a definite article such as ‘the’. This is 

because the phrase ‘one of’ takes definite article and plural noun. Therefore, 

the correct phrase is ‘One of the most’. 

31. 'Comparing ' is a present participle. Since the action done by it is in the past, it 

would be better to use 'compared' which is the past participle.Thus the correct 

sentence is - 'The University ended fiscal 2014 with an operating surplus of 

$2.7 million (which includes a one-time benefits adjustment) compared to an 

operating deficit of $33.7 million in fiscal 2013.' 

32. The correction is in the usage pronoun ‘them’. Since singular pronoun ‘his’ and 

singular word ‘administrator’ have been used in other parts of the sentence, 

the usage of the plural pronoun ‘them’ is wrong. The correct pronoun which 

should be used is ‘him’. Therefore, the correct phrase would be ‘and therefore 

made him’. Thus, the error is in part 3. 

33. The error lies in part 1 of the sentence where the pronoun ‘her’ needs to be 

replaced with ‘herself’ to make the sentence grammatically correct. 

34. The preposition needed here is 'at' not 'with' because 'with' is requires an 

instrument to go with it--like 'with a hammer,'with a spoon' etc. You are good 

'at ' something like learning,swimming etc. So the error is in option 4 

35. When two nouns ( jury and judge) are connected by the conjunction 'and', the 

following verb (has) should be in its plural form(have). Thus the correct 

sentence is - 'Both the jury and the judge have come to the same conclusion 

regarding this case. ' 
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36. The meaning of the sentence should be such that the Centre had to collect 

money through taxes for a justifiable action or reason. ‘Reason’ can be best 

expressed by the word ‘cause’ and ‘resort’ also fits the first blank effectively. 

The preposition after the first blank cannot take any of the other words except 

‘resort’ and ‘turn’. Thus option 3 is the correct answer as it a stronger set of 

words than ‘turn, work’. 

37. something has happened to the person’s weight that has directly affected her 

clothing.  One can either gain weight or lose weight. Thereby your clothing will 

become tight or loose respectively. 

Now, note that the blank comes after ‘weight’. The act of losing weight is called 

‘weight loss’ and the act of putting on weight is called ‘weight gain’. The only 

option that has a noun as the first word is option 4 ‘loss, loose’ and this is the 

correct answer. 

Note the difference between ‘lose’ and ‘loose’. ‘Lose’ means to not have 

something anymore. ‘Loose’ either means ‘not tight’ or it means ‘to set free’. 

Thus option 4 is the correct answer. 

38. The first blank needs an adjective to describe the character of a person who 

believes in superstitions. Options 4 and 5 can be negated because such people 

will not be generally called ‘clever’ or ‘wise’. The second blank needs a word to 

denote the widespread presence of ‘superstition’ in the town. The best word to 

describe this is ‘prevalent’. ‘Gullible’ would be more appropriate than ‘stupid’ 

because it refers to a person who gets ‘easily persuaded or influenced’ and to 

believe in superstition,  person must be credulous. Hence option 3 is the best 

fit answer. 

39. It is known that the main food for a baby is its mother’s milk. Thus the first 

blank needs a word that that takes into account the essential substances to 

while the second blank needs a word that describes the associated 

development. Options 1 and 2 do not provide a sensible answer when put in 

the blanks. ‘Wholesome’ and ‘beneficial’ cannot be used without some other 
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words like ‘food’ or ‘nurture’ etc. succeeding it. Option 5 provides a perfectly 

sensible answer. ‘Nutrients’ refer to ‘substances which provide nourishment’. 

40. The two closest options are 1 and 2 as we are talking about a crime. Here 

'request' in 2 is informal  and on the other hand 'complaint' perfectly fits the 

context. Thus option 1 is the correct answer. 

41. F clearly starts the passage as it introduces the topic which is about a Spanish 

carriers German unit. D describes the banking service and tells the utility of 

it. ‘Through this’ is a significant hint that suggests that D follows F. B tells who 

will service the accounts of O2, thus giving more information about the 

banking service. 

E mentions that carriers have already offered banking services in ‘developing 

countries’ and C talks about Kenya, which is a developing country. Thus, E fits 

best as the fourth sentence. A concludes the sentence by telling about the 

European context which logically follows C. Also, ‘similar offerings’ is used 

with reference to services like M. Pesa, which has been mentioned in C. 

 

Thus, the correct sequence is FDBECA. 

The first sentence is F. 

42. F clearly starts the passage as it introduces the topic which is about a Spanish 

carriers German unit. D describes the banking service and tells the utility of it. 

‘Through this’ is a significant hint that suggests that D follows F. B tells who will 

service the accounts of O2, thus giving more information about the banking 

service. 

E mentions that carriers have already offered banking services in ‘developing 

countries’ and C talks about Kenya, which is a developing country. Thus, E fits 

best as the fourth sentence. A concludes the sentence by telling about the 

European context which logically follows C. Also, ‘similar offerings’ is used 

with reference to services like M. Pesa, which has been mentioned in C. 
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Thus, the correct sequence is FDBECA. 

The second sentence is D. 

43 F clearly starts the passage as it introduces the topic which is about a Spanish 

carriers German unit. D describes the banking service and tells the utility of it. 

‘Through this’ is a significant hint that suggests that D follows F. B tells who will 

service the accounts of O2, thus giving more information about the banking 

service. 

E mentions that carriers have already offered banking services in ‘developing 

countries’ and C talks about Kenya, which is a developing country. Thus, E fits best 

as the fourth sentence. A concludes the sentence by telling about the European 

context which logically follows C. Also, ‘similar offerings’ is used with reference to 

services like M. Pesa, which has been mentioned in C. 

 

Thus, the correct sequence is FDBECA. 

The third sentence is B. 

 

44. F clearly starts the passage as it introduces the topic which is about a Spanish 

carriers German unit. D describes the banking service and tells the utility of it. 

‘Through this’ is a significant hint that suggests that D follows F. B tells who will 

service the accounts of O2, thus giving more information about the banking 

service. 

E mentions that carriers have already offered banking services in ‘developing 

countries’ and C talks about Kenya, which is a developing country. Thus, E fits 

best as the fourth sentence. A concludes the sentence by telling about the 

European context which logically follows C. Also, ‘similar offerings’ is used with 

reference to services like M. Pesa, which has been mentioned in C. 

 

Thus, the correct sequence is FDBECA. 
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The fourth sentence is E. 

 

45. F clearly starts the passage as it introduces the topic which is about a Spanish 

carriers German unit. D describes the banking service and tells the utility of it. 

‘Through this’ is a significant hint that suggests that D follows F. B tells who will 

service the accounts of O2, thus giving more information about the banking 

service. 

 

E mentions that carriers have already offered banking services in ‘developing 

countries’ and C talks about Kenya, which is a developing country. Thus, E fits best 

as the fourth sentence. A concludes the sentence by telling about the European 

context which logically follows C. Also, ‘similar offerings’ is used with reference to 

services like M. Pesa, which has been mentioned in C. 

 

Thus, the correct sequence is FDBECA. 

 

The fifth sentence is C. 

46. The sentence is speaking about doom for the economy. Thus the trade must have 

been 'falling'. The correct word to express this meaning is 'deteriorating'. 

47. The meaning of the above words is given below: 

Codicil: an addition to the will that changes or clarifies the original document. 

Codify: to classify things in a logical manner 

Coddle: to treat gently or with great care 

Coalition: a group formed to gain an advantage 

The word ‘codicil’ fits here and the rest are incorrect. The given word 'codicile' 

is not correctly spelt. Thus option 1 is the correct answer. 
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48. Here, the meaning of the above words is as follows : 

Boddy: slightly damp 

shoddy: poor or not up to the mark 

sagging: that hangs down 

slushy: damp 

The word 'shoddy' fits here and the rest are incorrect. Thus option 2 is the 

correct answer. 

49. The correct word which would fit here is 'bale' which means 'bundle of hay'. The 

word 'bail' means 'bucket handle'. Thus it is incorrect. Option 4 is the correct 

answer. The other options are incorrect. 

50. The word ‘conduit’ means ‘a means of getting something to another place or 

person’. 

The word ‘condign’ means ‘fair, fitting, and deserved’.  

The word ‘corsage’ means ‘a small bouquet of flowers worn on a woman's dress or 

worn around her wrist to a formal occasion, traditionally purchased by the 

woman's date’. 

The word ‘cower’ means ‘crouch down in fear’. 

Thus we see that the words are either verbs or adjective except option 3. It is a 

noun and fits in the sentence as well. 

Reasoning Ability 

51. Eight family members A, B, C, D, E, F, G and H are sitting in a row facing north. 

Note: Four of them are males. There are three couples in the family. 
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Let us draw a straight line and mark 8 persons who are facing north. 

 

1) E sits second to the right of G. 

2) B is on the immediate left of G. 

3) D is second to left of B. 

Thus we get 3 possibilities, 

 

4) D is wife of H and sits adjacent to her husband. 

5) A is brother of H, who is on the immediate right of A. 

Here possibility 1 and 2 are not possible. 
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6) F is not a neighbour of G. 

 

Now let us draw family tree. 

7) E is a male and sits second to the right of G, who is wife of C. 

 

8) B is a female and sits second to the left of her father in law. It means C is father in 
law of B. 

 

9) D is wife of H. F is daughter of H. 

 

10) A is brother of H, E and F are siblings, E is a male. 

 

Now combine both family trees, 
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Now we can mark the male and female members in the line as: 

 

Clearly there are four females between C and H. 

 

52. Eight family members A, B, C, D, E, F, G and H are sitting in a row facing north. 

Note: Four of them are males. There are three couples in the family. 

 

Let us draw a straight line and mark 8 persons who are facing north. 

 

1) E sits second to the right of G. 

2) B is on the immediate left of G. 

3) D is second to left of B. 
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Thus we get 3 possibilities, 

 

4) D is wife of H and sits adjacent to her husband. 

5) A is brother of H, who is on the immediate right of A. 

Here possibility 1 and 2 are not possible. 

 

6) F is not a neighbour of G. 

 

Now let us draw family tree. 

7) E is a male and sits second to the right of G, who is wife of C. 

 

8) B is a female and sits second to the left of her father in law. It means C is father in 
law of B. 

 

9) D is wife of H. F is daughter of H. 
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10) A is brother of H, E and F are siblings, E is a male. 

 

Now combine both family trees, 

 

Now we can mark the male and female members in the line as: 

 

Clearly, F sits second to left of G and F is the granddaughter of G. 

 

53. Eight family members A, B, C, D, E, F, G and H are sitting in a row facing north. 

Note: Four of them are males. There are three couples in the family. 
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Let us draw a straight line and mark 8 persons who are facing north. 

 

1) E sits second to the right of G. 

2) B is on the immediate left of G. 

3) D is second to left of B. 

Thus we get 3 possibilities, 

 

4) D is wife of H and sits adjacent to her husband. 

5) A is brother of H, who is on the immediate right of A. 

Here possibility 1 and 2 are not possible. 
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6) F is not a neighbour of G. 

 

Now let us draw family tree. 

7) E is a male and sits second to the right of G, who is wife of C. 

 

8) B is a female and sits second to the left of her father in law. It means C is father in 
law of B. 

 

9) D is wife of H. F is daughter of H. 

 

10) A is brother of H, E and F are siblings, E is a male. 

 

Now combine both family trees, 
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Now we can mark the male and female members in the line as: 

 

Clearly C is third to the right of D’s daughter F. 

 

54. Eight family members A, B, C, D, E, F, G and H are sitting in a row facing north. 

Note: Four of them are males. There are three couples in the family. 

 

Let us draw a straight line and mark 8 persons who are facing north. 

 

1) E sits second to the right of G. 

2) B is on the immediate left of G. 

3) D is second to left of B. 
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Thus we get 3 possibilities, 

 

4) D is wife of H and sits adjacent to her husband. 

5) A is brother of H, who is on the immediate right of A. 

Here possibility 1 and 2 are not possible. 

 

6) F is not a neighbour of G. 

 

Now let us draw family tree. 

7) E is a male and sits second to the right of G, who is wife of C. 

 

8) B is a female and sits second to the left of her father in law. It means C is father in 
law of B. 

 

9) D is wife of H. F is daughter of H. 
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10) A is brother of H, E and F are siblings, E is a male. 

 

Now combine both family trees, 

 

Now we can mark the male and female members in the line as: 

 

Clearly, GB is different from others as second person is sitting to the immediate left 
of first person whereas in other options second person is sitting to the immediate 
right of first person. 

 

55. Eight family members A, B, C, D, E, F, G and H are sitting in a row facing north. 

Note: Four of them are males. There are three couples in the family. 
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Let us draw a straight line and mark 8 persons who are facing north. 

 

1) E sits second to the right of G. 

2) B is on the immediate left of G. 

3) D is second to left of B. 

Thus we get 3 possibilities, 

 

4) D is wife of H and sits adjacent to her husband. 

5) A is brother of H, who is on the immediate right of A. 

Here possibility 1 and 2 are not possible. 
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6) F is not a neighbour of G. 

 

Now let us draw family tree. 

7) E is a male and sits second to the right of G, who is wife of C. 

 

8) B is a female and sits second to the left of her father in law. It means C is father in 
law of B. 

 

9) D is wife of H. F is daughter of H. 

 

10) A is brother of H, E and F are siblings, E is a male. 

 

Now combine both family trees, 
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Now we can mark the male and female members in the line as: 

 

Clearly D is third to the left of G (Mother-in-law of D). 

 

56. According to the given conditions, solving step-wise:- 

1) S is sitting second to the left of N. 

 

2) There are two persons between S and the person who likes Orange colour and M is 
the second to the left of the person who likes Orange colour. 
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3) L is the immediate neighbour of S. L likes Red colour. So we have following 
possibilities. 
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4) R is the third to the right of P. 
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5) The person who likes Pink colour is second to the right of P. 
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6) O likes Purple colour 
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7) The person who likes Brown colour is the third to the left of the person who likes 
Blue colour. Neither S nor P likes Brown colour. N likes neither Green nor 
Blue colour. 
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8) So, either orange will be Q or pink will be Q as only Q is remaining. 
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9) R does not like Black. Thus we get our final arrangement. 
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Hence, Q likes Pink colour. 

 

57. According to the given conditions, solving step-wise:- 

1) S is sitting second to the left of N. 

 

2) There are two persons between S and the person who likes Orange colour and M is 
the second to the left of the person who likes Orange colour. 
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3) L is the immediate neighbour of S. L likes Red colour. So we have following 
possibilities. 
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4) R is the third to the right of P. 
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5) The person who likes Pink colour is second to the right of P. 
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6) O likes Purple colour 
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7) The person who likes Brown colour is the third to the left of the person who likes 
Blue colour. Neither S nor P likes Brown colour. N likes neither Green nor 
Blue colour. 
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8) So, either orange will be Q or pink will be Q as only Q is remaining. 
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9) R does not like Black. Thus we get our final arrangement. 
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Q is second to the right of the person who likes Orange colour. 

 

58. According to the given conditions, solving step-wise:- 

1) S is sitting second to the left of N. 

 

2) There are two persons between S and the person who likes Orange colour and M is 
the second to the left of the person who likes Orange colour. 
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3) L is the immediate neighbour of S. L likes Red colour. So we have following 
possibilities. 
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4) R is the third to the right of P. 
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5) The person who likes Pink colour is second to the right of P. 
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6) O likes Purple colour 
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7) The person who likes Brown colour is the third to the left of the person who likes 
Blue colour. Neither S nor P likes Brown colour. N likes neither Green nor 
Blue colour. 
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8) So, either orange will be Q or pink will be Q as only Q is remaining. 
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9) R does not like Black. Thus we get our final arrangement. 
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Hence, S likes Green colour. 
 
59. According to the given conditions, solving step-wise:- 

1) S is sitting second to the left of N. 

 

2) There are two persons between S and the person who likes Orange colour and M is 
the second to the left of the person who likes Orange colour. 
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3) L is the immediate neighbour of S. L likes Red colour. So we have following 
possibilities. 
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4) R is the third to the right of P. 
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5) The person who likes Pink colour is second to the right of P. 
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6) O likes Purple colour 
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7) The person who likes Brown colour is the third to the left of the person who likes 
Blue colour. Neither S nor P likes Brown colour. N likes neither Green nor 
Blue colour. 
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8) So, either orange will be Q or pink will be Q as only Q is remaining. 
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9) R does not like Black. Thus we get our final arrangement. 
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Hence, R is sitting exactly in the middle of the person who likes Red colour and Q. 

 

60. According to the given conditions, solving step-wise:- 

1) S is sitting second to the left of N. 

 

2) There are two persons between S and the person who likes Orange colour and M is 
the second to the left of the person who likes Orange colour. 
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3) L is the immediate neighbour of S. L likes Red colour. So we have following 
possibilities. 
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4) R is the third to the right of P. 
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5) The person who likes Pink colour is second to the right of P. 
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6) O likes Purple colour 
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7) The person who likes Brown colour is the third to the left of the person who likes 
Blue colour. Neither S nor P likes Brown colour. N likes neither Green nor 
Blue colour. 
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8) So, either orange will be Q or pink will be Q as only Q is remaining. 
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9) R does not like Black. Thus we get our final arrangement. 
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Hence, immediate neighbours of M are N and S. 

 

61. According to the given conditions, solving step-wise:- 

1) S is sitting second to the left of N. 

 

2) There are two persons between S and the person who likes Orange colour and M is 
the second to the left of the person who likes Orange colour. 
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3) L is the immediate neighbour of S. L likes Red colour. So we have following 
possibilities. 
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4) R is the third to the right of P. 

 



 

85 | P a g e  

 

 

 



 

86 | P a g e  

 

 

5) The person who likes Pink colour is second to the right of P. 
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6) O likes Purple colour 
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7) The person who likes Brown colour is the third to the left of the person who likes 
Blue colour. Neither S nor P likes Brown colour. N likes neither Green nor 
Blue colour. 
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8) So, either orange will be Q or pink will be Q as only Q is remaining. 
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9) R does not like Black. Thus we get our final arrangement. 
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Q is second to the right of the person who likes Orange colour. 

 

62. Seven regional films: Punjabi, Marathi, Tamil, Telugu, Kannada, Bengali and 

Bhojpuri 

Film Festival: From Monday to Sunday. 

1) Bengali film is shown in Thursday. 

Day Allotted 
Language of the 

film 

Monday  

Tuesday  

Wednesday  

Thursday Bengali 

Friday  

Saturday  

Sunday  

 
2) Kannada film is shown neither on Tuesday nor on Saturday. 

3) Bhojpuri film is shown neither on Sunday nor on Monday. 
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Day Allotted 
Language of the 

film 

Monday Kannada 

Tuesday Bhojpuri 

Wednesday Bhojpuri; Kannada 

Thursday Bengali 

Friday Bhojpuri; Kannada 

Saturday Bhojpuri 

Sunday Kannada 

 
4) Only one film is shown between Bengali and Tamil film. 

Day Allotted 
Language of the 

film 

Monday Kannada 

Tuesday Bhojpuri; Tamil 

Wednesday Bhojpuri; Kannada 

Thursday Bengali 

Friday Bhojpuri; Kannada 

Saturday Bhojpuri; Tamil 

Sunday Kannada 

 
 
5) Kannada film is shown on the day immediately after the day on which Marathi film 
is shown. 

So, Kannada film cannot be on Monday. 

6) Two films are shown between Punjabi and Marathi film. 

Now if Marathi film is shown on Tuesday, then Kannada film will be shown on 
Wednesday and Punjabi film will be shown on Friday. 

But then there is conflict between day on which Bhojpuri and Tamil film is shown. 

Day Allotted 
Language of the 

film 

Monday  
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Tuesday Marathi 

Wednesday Kannada 

Thursday Bengali 

Friday Punjabi 

Saturday Bhojpuri; Tamil 

Sunday Kannada 

 
Now if Marathi film is shown on Saturday, then Kannada film will be shown on 
Sunday and Punjabi film will be shown on Wednesday. 

Then Bhojpuri film will be shown on Friday and Tamil film will be shown on 
Tuesday. 

Thus on Monday, Telugu film is shown. 

Day Allotted 
Language of the 

film 

Monday Telugu 

Tuesday Tamil 

Wednesday Punjabi 

Thursday Bengali 

Friday Bhojpuri 

Saturday Marathi 

Sunday Kannada 

 
Thus Telugu film is shown on Monday.  

 

63. Seven regional films: Punjabi, Marathi, Tamil, Telugu, Kannada, Bengali and 

Bhojpuri 

Film Festival: From Monday to Sunday. 

1) Bengali film is shown in Thursday. 

Day Allotted 
Language of the 

film 

Monday  
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Tuesday  

Wednesday  

Thursday Bengali 

Friday  

Saturday  

Sunday  

 
2) Kannada film is shown neither on Tuesday nor on Saturday. 

3) Bhojpuri film is shown neither on Sunday nor on Monday. 

Day Allotted 
Language of the 

film 

Monday Kannada 

Tuesday Bhojpuri 

Wednesday Bhojpuri; Kannada 

Thursday Bengali 

Friday Bhojpuri; Kannada 

Saturday Bhojpuri 

Sunday Kannada 

 
4) Only one film is shown between Bengali and Tamil film. 

Day Allotted 
Language of the 

film 

Monday Kannada 

Tuesday Bhojpuri; Tamil 

Wednesday Bhojpuri; Kannada 

Thursday Bengali 

Friday Bhojpuri; Kannada 

Saturday Bhojpuri; Tamil 

Sunday Kannada 
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5) Kannada film is shown on the day immediately after the day on which Marathi film 
is shown. 

So, Kannada film cannot be on Monday. 

6) Two films are shown between Punjabi and Marathi film. 

Now if Marathi film is shown on Tuesday, then Kannada film will be shown on 
Wednesday and Punjabi film will be shown on Friday. 

But then there is conflict between day on which Bhojpuri and Tamil film is shown. 

Day Allotted 
Language of the 

film 

Monday  

Tuesday Marathi 

Wednesday Kannada 

Thursday Bengali 

Friday Punjabi 

Saturday Bhojpuri; Tamil 

Sunday Kannada 

 
Now if Marathi film is shown on Saturday, then Kannada film will be shown on 
Sunday and Punjabi film will be shown on Wednesday. 

Then Bhojpuri film will be shown on Friday and Tamil film will be shown on 
Tuesday. 

Thus on Monday, Telugu film is shown. 

Day Allotted 
Language of the 

film 

Monday Telugu 

Tuesday Tamil 

Wednesday Punjabi 

Thursday Bengali 

Friday Bhojpuri 

Saturday Marathi 

Sunday Kannada 
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Thus three films are shown between Tamil and Marathi films. 

 

64. Solution: 

 Seven regional films: Punjabi, Marathi, Tamil, Telugu, Kannada, Bengali and 
Bhojpuri 

Film Festival: From Monday to Sunday. 

1) Bengali film is shown in Thursday. 

Day Allotted 
Language of the 

film 

Monday  

Tuesday  

Wednesday  

Thursday Bengali 

Friday  

Saturday  

Sunday  

 
2) Kannada film is shown neither on Tuesday nor on Saturday. 

3) Bhojpuri film is shown neither on Sunday nor on Monday. 

Day Allotted 
Language of the 

film 

Monday Kannada 

Tuesday Bhojpuri 

Wednesday Bhojpuri; Kannada 

Thursday Bengali 

Friday Bhojpuri; Kannada 

Saturday Bhojpuri 

Sunday Kannada 

 
4) Only one film is shown between Bengali and Tamil film. 
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Day Allotted 
Language of the 

film 

Monday Kannada 

Tuesday Bhojpuri; Tamil 

Wednesday Bhojpuri; Kannada 

Thursday Bengali 

Friday Bhojpuri; Kannada 

Saturday Bhojpuri; Tamil 

Sunday Kannada 

 
 
5) Kannada film is shown on the day immediately after the day on which Marathi film 
is shown. 

So, Kannada film cannot be on Monday. 

6) Two films are shown between Punjabi and Marathi film. 

Now if Marathi film is shown on Tuesday, then Kannada film will be shown on 
Wednesday and Punjabi film will be shown on Friday. 

But then there is conflict between day on which Bhojpuri and Tamil film is shown. 

Day Allotted 
Language of the 

film 

Monday  

Tuesday Marathi 

Wednesday Kannada 

Thursday Bengali 

Friday Punjabi 

Saturday Bhojpuri; Tamil 

Sunday Kannada 

 
Now if Marathi film is shown on Saturday, then Kannada film will be shown on 
Sunday and Punjabi film will be shown on Wednesday. 

Then Bhojpuri film will be shown on Friday and Tamil film will be shown on 
Tuesday. 

Thus on Monday, Telugu film is shown. 
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Day Allotted 
Language of the 

film 

Monday Telugu 

Tuesday Tamil 

Wednesday Punjabi 

Thursday Bengali 

Friday Bhojpuri 

Saturday Marathi 

Sunday Kannada 

 
Thus, Marathi film is shown on Saturday. 

 

65. Seven regional films: Punjabi, Marathi, Tamil, Telugu, Kannada, Bengali and 

Bhojpuri 

Film Festival: From Monday to Sunday. 

1) Bengali film is shown in Thursday. 

Day Allotted 
Language of the 

film 

Monday  

Tuesday  

Wednesday  

Thursday Bengali 

Friday  

Saturday  

Sunday  

 
2) Kannada film is shown neither on Tuesday nor on Saturday. 

3) Bhojpuri film is shown neither on Sunday nor on Monday. 

Day Allotted 
Language of the 

film 

Monday Kannada 
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Tuesday Bhojpuri 

Wednesday Bhojpuri; Kannada 

Thursday Bengali 

Friday Bhojpuri; Kannada 

Saturday Bhojpuri 

Sunday Kannada 

 
4) Only one film is shown between Bengali and Tamil film. 

Day Allotted 
Language of the 

film 

Monday Kannada 

Tuesday Bhojpuri; Tamil 

Wednesday Bhojpuri; Kannada 

Thursday Bengali 

Friday Bhojpuri; Kannada 

Saturday Bhojpuri; Tamil 

Sunday Kannada 

 
 
5) Kannada film is shown on the day immediately after the day on which Marathi film 
is shown. 

So, Kannada film cannot be on Monday. 

6) Two films are shown between Punjabi and Marathi film. 

Now if Marathi film is shown on Tuesday, then Kannada film will be shown on 
Wednesday and Punjabi film will be shown on Friday. 

But then there is conflict between day on which Bhojpuri and Tamil film is shown. 

Day Allotted 
Language of the 

film 

Monday  

Tuesday Marathi 

Wednesday Kannada 

Thursday Bengali 
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Friday Punjabi 

Saturday Bhojpuri; Tamil 

Sunday Kannada 

 
Now if Marathi film is shown on Saturday, then Kannada film will be shown on 
Sunday and Punjabi film will be shown on Wednesday. 

Then Bhojpuri film will be shown on Friday and Tamil film will be shown on 
Tuesday. 

Thus on Monday, Telugu film is shown. 

Day Allotted 
Language of the 

film 

Monday Telugu 

Tuesday Tamil 

Wednesday Punjabi 

Thursday Bengali 

Friday Bhojpuri 

Saturday Marathi 

Sunday Kannada 

 
Thus Bhojpuri film is shown on Friday. 

 

66. Seven regional films: Punjabi, Marathi, Tamil, Telugu, Kannada, Bengali and 

Bhojpuri 

Film Festival: From Monday to Sunday. 

1) Bengali film is shown in Thursday. 

Day Allotted 
Language of the 

film 

Monday  

Tuesday  

Wednesday  

Thursday Bengali 

Friday  
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Saturday  

Sunday  

 
2) Kannada film is shown neither on Tuesday nor on Saturday. 

3) Bhojpuri film is shown neither on Sunday nor on Monday. 

Day Allotted 
Language of the 

film 

Monday Kannada 

Tuesday Bhojpuri 

Wednesday Bhojpuri; Kannada 

Thursday Bengali 

Friday Bhojpuri; Kannada 

Saturday Bhojpuri 

Sunday Kannada 

 
4) Only one film is shown between Bengali and Tamil film. 

Day Allotted 
Language of the 

film 

Monday Kannada 

Tuesday Bhojpuri; Tamil 

Wednesday Bhojpuri; Kannada 

Thursday Bengali 

Friday Bhojpuri; Kannada 

Saturday Bhojpuri; Tamil 

Sunday Kannada 

 
 
5) Kannada film is shown on the day immediately after the day on which Marathi film 
is shown. 

So, Kannada film cannot be on Monday. 

6) Two films are shown between Punjabi and Marathi film. 
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Now if Marathi film is shown on Tuesday, then Kannada film will be shown on 
Wednesday and Punjabi film will be shown on Friday. 

But then there is conflict between day on which Bhojpuri and Tamil film is shown. 

Day Allotted 
Language of the 

film 

Monday  

Tuesday Marathi 

Wednesday Kannada 

Thursday Bengali 

Friday Punjabi 

Saturday Bhojpuri; Tamil 

Sunday Kannada 

 
Now if Marathi film is shown on Saturday, then Kannada film will be shown on 
Sunday and Punjabi film will be shown on Wednesday. 

Then Bhojpuri film will be shown on Friday and Tamil film will be shown on 
Tuesday. 

Thus on Monday, Telugu film is shown. 

Day Allotted 
Language of the 

film 

Monday Telugu 

Tuesday Tamil 

Wednesday Punjabi 

Thursday Bengali 

Friday Bhojpuri 

Saturday Marathi 

Sunday Kannada 

 
Thus Punjabi film is shown just before Bengali film. 

 

67. The input of words and numbers is rearranged in such a way so that in the final 

rearrangement first all the numbers appear in descending order followed by all the 

words in ascending order. The steps of the procedure are as follows: 
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1. In Step I, the largest number is made the first element and all the other 
elements are shifted rightwards accordingly. 

2. In the next step, alphabetically first word is made the last element and all the 
others are shifted accordingly. 

3. In the next step, the second smallest number is made the second element and 
all others are shifted accordingly. 

4. In the successive steps, the second word alphabetically is made the last 
element and others are shifted accordingly. 

This procedure is continued until all the numbers appear in descending order 
followed by all the words in alphabetical order. 

For the input given the steps are as follows: 

Input: class 25 war 15 race 73 heap 58 just 88 take 38 

Step I: 88 class 25 war 15 race 73 heap 58 just take 38 

Step II: 88 25 war 15 race 73 heap 58 just take 38 class 

Step III: 88 73 25 war 15 race heap 58 just take 38 class 

Step IV: 88 73 25 war 15 race 58 just take 38 class heap 

Step V: 88 73 58 25 war 15 race just take 38 class heap 

Step VI: 88 73 58 25 war 15 race take 38 class heap just 

Step VII: 88 73 58 38 25 war 15 race take class heap just 

Hence, ‘25’ is ninth from the right in Step VI. 

 

68.  The input of words and numbers is rearranged in such a way so that in the final 

rearrangement first all the numbers appear in descending order followed by all the 

words in ascending order. The steps of the procedure are as follows: 

1. In Step I, the largest number is made the first element and all the other 
elements are shifted rightwards accordingly. 

2. In the next step, alphabetically first word is made the last element and all the 
others are shifted accordingly. 

3. In the next step, the second smallest number is made the second element and 
all others are shifted accordingly. 

4. In the successive steps, the second word alphabetically is made the last 
element and others are shifted accordingly. 

This procedure is continued until all the numbers appear in descending order 
followed by all the words in alphabetical order. 

For the input given the steps are as follows: 

Input: class 25 war 15 race 73 heap 58 just 88 take 38 
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Step I: 88 class 25 war 15 race 73 heap 58 just take 38 

Step II: 88 25 war 15 race 73 heap 58 just take 38 class 

Step III: 88 73 25 war 15 race heap 58 just take 38 class 

Step IV: 88 73 25 war 15 race 58 just take 38 class heap 

Step V: 88 73 58 25 war 15 race just take 38 class heap 

Step VI: 88 73 58 25 war 15 race take 38 class heap just 

Step VII: 88 73 58 38 25 war 15 race take class heap just 

Step VIII: 88 73 58 38 25 war 15 take class heap just race 

Step IX: 88 73 58 38 25 15 war take class heap just race 

Thus, Step X is “88 73 58 38 25 15 war class heap just race take”. 

 

69. The input of words and numbers is rearranged in such a way so that in the final 
rearrangement first all the numbers appear in descending order followed by all the 
words in ascending order. The steps of the procedure are as follows: 

1. In Step I, the largest number is made the first element and all the other 
elements are shifted rightwards accordingly. 

2. In the next step, alphabetically first word is made the last element and all the 
others are shifted accordingly. 

3. In the next step, the second smallest number is made the second element and 
all others are shifted accordingly. 

4. In the successive steps, the second word alphabetically is made the last 
element and others are shifted accordingly. 

This procedure is continued until all the numbers appear in descending order 
followed by all the words in alphabetical order. 

For the input given the steps are as follows: 

Input: class 25 war 15 race 73 heap 58 just 88 take 38 

Step I: 88 class 25 war 15 race 73 heap 58 just take 38 

Step II: 88 25 war 15 race 73 heap 58 just take 38 class 

Step III: 88 73 25 war 15 race heap 58 just take 38 class 

Step IV: 88 73 25 war 15 race 58 just take 38 class heap 

Step V: 88 73 58 25 war 15 race just take 38 class heap 

Step VI: 88 73 58 25 war 15 race take 38 class heap just 

Step VII: 88 73 58 38 25 war 15 race take class heap just 
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Step VIII: 88 73 58 38 25 war 15 take class heap just race 

Step IX: 88 73 58 38 25 15 war take class heap just race 

Step X: 88 73 58 38 25 15 war class heap just race take 

Step XI: 88 73 58 38 25 15 class heap just race take war 

Step XI is the last step of the rearrangement as the desired arrangement is obtained. 

Thus, eleven steps are required to complete this arrangement. 

 

70. The input of words and numbers is rearranged in such a way so that in the final 

rearrangement first all the numbers appear in descending order followed by all the 

words in ascending order. The steps of the procedure are as follows: 

1. In Step I, the largest number is made the first element and all the other 
elements are shifted rightwards accordingly. 

2. In the next step, alphabetically first word is made the last element and all the 
others are shifted accordingly. 

3. In the next step, the second smallest number is made the second element and 
all others are shifted accordingly. 

4. In the successive steps, the second word alphabetically is made the last 
element and others are shifted accordingly. 

This procedure is continued until all the numbers appear in descending order 
followed by all the words in alphabetical order. 

For the input given the steps are as follows: 

Input: class 25 war 15 race 73 heap 58 just 88 take 38 

Step I: 88 class 25 war 15 race 73 heap 58 just take 38 

Step II: 88 25 war 15 race 73 heap 58 just take 38 class 

Step III: 88 73 25 war 15 race heap 58 just take 38 class 

Step IV: 88 73 25 war 15 race 58 just take 38 class heap 

Step V: 88 73 58 25 war 15 race just take 38 class heap 

Step VI: 88 73 58 25 war 15 race take 38 class heap just 

Step VII: 88 73 58 38 25 war 15 race take class heap just 

Step VIII: 88 73 58 38 25 war 15 take class heap just race 

Step IX: 88 73 58 38 25 15 war take class heap just race 

Step X: 88 73 58 38 25 15 war class heap just race take 

Step XI: 88 73 58 38 25 15 class heap just race take war 
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Hence, in Step ‘IX” the position of ‘15’ is seventh from the right end. 

 

71.  The input of words and numbers is rearranged in such a way so that in the final 

rearrangement first all the numbers appear in descending order followed by all the 

words in ascending order. The steps of the procedure are as follows: 

1. In Step I, the largest number is made the first element and all the other 
elements are shifted rightwards accordingly. 

2. In the next step, alphabetically first word is made the last element and all the 
others are shifted accordingly. 

3. In the next step, the second smallest number is made the second element and 
all others are shifted accordingly. 

4. In the successive steps, the second word alphabetically is made the last 
element and others are shifted accordingly. 

This procedure is continued until all the numbers appear in descending order 
followed by all the words in alphabetical order. 

For the input given the steps are as follows: 

Input: class 25 war 15 race 73 heap 58 just 88 take 38 

Step I: 88 class 25 war 15 race 73 heap 58 just take 38 

Step II: 88 25 war 15 race 73 heap 58 just take 38 class 

Step III: 88 73 25 war 15 race heap 58 just take 38 class 

Step IV: 88 73 25 war 15 race 58 just take 38 class heap 

Step V: 88 73 58 25 war 15 race just take 38 class heap 

Step VI: 88 73 58 25 war 15 race take 38 class heap just 

Step VII: 88 73 58 38 25 war 15 race take class heap just 

Step VIII: 88 73 58 38 25 war 15 take class heap just race 

Step IX: 88 73 58 38 25 15 war take class heap just race 

Step X: 88 73 58 38 25 15 war class heap just race take 

Step XI: 88 73 58 38 25 15 class heap just race take war 

Hence, the position of ‘war’ in Step VII is sixth from the left end. 

 

72. Ranks of five candidates P, Q, R, S and T are arranged in ascending order of their 

marks. 

That means candidate with highest marks have highest rank. 
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In Numerical Ability, T is the fourth and S is the first. 

Candidate Numerical Ability Rank General Awareness Ranks 

P   

Q   

R   

S 1  

T 4  

 
In General Awareness, P takes the place of T and T takes the place of Q. R’s position 
remains the same in both the arrangements. 

Let place of Q and R in Numerical ability are ‘n’ and ‘x’ respectively. 

Candidate Numerical Ability Rank General Awareness Ranks 

P  4 

Q n  

R x x 

S 1  

T 4 n 

 
Q’s marks are lowest in one test and highest in the other test. 

As in Numerical ability rank of S is first so Q cannot be first. Hence Q is last in 
Numerical ability and first in General awareness.  

Candidate Numerical Ability Rank General Awareness Ranks 

P  4 

Q 5 1 

R x x 

S 1  

T 4 5 

 
P has more marks than R in Numerical Ability. 

Hence P is third and R is second in Numerical ability. 

Candidate Numerical Ability Rank General Awareness Ranks 
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P 3 4 

Q 5 1 

R 2 2 

S 1 3 

T 4 5 

Hence we get the final table. 

So the ranks in ascending order are as follows, 

Numerical Ability: S R P T Q 

General Awareness: Q R S P T 

That means S got least marks in Numerical ability and Q got the highest. 

In General Awareness Q got the least marks and T got the highest. 

So, T secured the highest marks in General Awareness. 

 

73. Ranks of five candidates P, Q, R, S and T are arranged in ascending order of their 

marks. 

That means candidate with highest marks have highest rank. 

In Numerical Ability, T is the fourth and S is the first. 

Candidate Numerical Ability Rank General Awareness Ranks 

P   

Q   

R   

S 1  

T 4  

 
In General Awareness, P takes the place of T and T takes the place of Q. R’s position 
remains the same in both the arrangements. 

Let place of Q and R in Numerical ability are ‘n’ and ‘x’ respectively. 

Candidate Numerical Ability Rank General Awareness Ranks 

P  4 

Q n  
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R x x 

S 1  

T 4 n 

 
Q’s marks are lowest in one test and highest in the other test. 

As in Numerical ability rank of S is first so Q cannot be first. Hence Q is last in 
Numerical ability and first in General awareness.  

Candidate Numerical Ability Rank General Awareness Ranks 

P  4 

Q 5 1 

R x x 

S 1  

T 4 5 

 
P has more marks than R in Numerical Ability. 

Hence P is third and R is second in Numerical ability. 

Candidate Numerical Ability Rank General Awareness Ranks 

P 3 4 

Q 5 1 

R 2 2 

S 1 3 

T 4 5 

Hence we get the final table. 

So the ranks in ascending order are as follows, 

Numerical Ability: S R P T Q 

General Awareness: Q R S P T 

That means S got least marks in Numerical ability and Q got the highest. 

In General Awareness Q got the least marks and T got the highest. 

So, Q secured the highest marks in Numerical Ability 
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74. Ranks of five candidates P, Q, R, S and T are arranged in ascending order of their 

marks. 

That means candidate with highest marks have highest rank. 

In Numerical Ability, T is the fourth and S is the first. 

Candidate Numerical Ability Rank General Awareness Ranks 

P   

Q   

R   

S 1  

T 4  

 
In General Awareness, P takes the place of T and T takes the place of Q. R’s position 
remains the same in both the arrangements. 

Let place of Q and R in Numerical ability are ‘n’ and ‘x’ respectively. 

Candidate Numerical Ability Rank General Awareness Ranks 

P  4 

Q n  

R x x 

S 1  

T 4 n 

 
Q’s marks are lowest in one test and highest in the other test. 

As in Numerical ability rank of S is first so Q cannot be first. Hence Q is last in 
Numerical ability and first in General awareness.  

Candidate Numerical Ability Rank General Awareness Ranks 

P  4 

Q 5 1 

R x x 

S 1  

T 4 5 
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P has more marks than R in Numerical Ability. 

Hence P is third and R is second in Numerical ability. 

Candidate Numerical Ability Rank General Awareness Ranks 

P 3 4 

Q 5 1 

R 2 2 

S 1 3 

T 4 5 

Hence we get the final table. 

So the ranks in ascending order are as follows, 

Numerical Ability: S R P T Q 

General Awareness: Q R S P T 

That means S got least marks in Numerical ability and Q got the highest. 

In General Awareness Q got the least marks and T got the highest. 

Hence S, P & T have improvement in their ranks. 

 

75. Ranks of five candidates P, Q, R, S and T are arranged in ascending order of their 

marks. 

That means candidate with highest marks have highest rank. 

In Numerical Ability, T is the fourth and S is the first. 

Candidate Numerical Ability Rank General Awareness Ranks 

P   

Q   

R   

S 1  

T 4  

 
In General Awareness, P takes the place of T and T takes the place of Q. R’s position 
remains the same in both the arrangements. 

Let place of Q and R in Numerical ability are ‘n’ and ‘x’ respectively. 
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Candidate Numerical Ability Rank General Awareness Ranks 

P  4 

Q n  

R x x 

S 1  

T 4 n 

 
Q’s marks are lowest in one test and highest in the other test. 

As in Numerical ability rank of S is first so Q cannot be first. Hence Q is last in 
Numerical ability and first in General awareness.  

Candidate Numerical Ability Rank General Awareness Ranks 

P  4 

Q 5 1 

R x x 

S 1  

T 4 5 

 
P has more marks than R in Numerical Ability. 

Hence P is third and R is second in Numerical ability. 

Candidate Numerical Ability Rank General Awareness Ranks 

P 3 4 

Q 5 1 

R 2 2 

S 1 3 

T 4 5 

Hence we get the final table. 

So the ranks in ascending order are as follows, 

Numerical Ability: S R P T Q 

General Awareness: Q R S P T 

That means S got least marks in Numerical ability and Q got the highest. 

In General Awareness Q got the least marks and T got the highest. 
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Therefore, S, P and T have more marks than R in the General awareness. 

 

76.  

 

Following family diagram can be drawn from the given information: 

 

Sudha is daughter of Radha whose brother is Suresh. 

Hence, Suresh is Maternal Uncle of Sudha. 

 

77.  
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Following family diagram can be drawn from the given information: 

 

Now, it is clear that Sonu is son of Suresh whose mother is Mrs. Mahajan so the 
surname of Sonu is Mahajan. 

 

78. The route can be traced as follow: 
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Clearly, She is 15m towards East of her initial point. 

 

79. The path followed by Jaffar is traced as followed, 

 

Hence from the figure the distance will be 15 – 5 = 10 km 

 

80. According to the information given, 

P is 

% $ © ⋆ @ 

= >  <  ≤ ≥ 

Of Q 

 
Given statement: V © K, K @ B, B $ M 
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On converting: V < K; K ≥ B; B > M 

On combining: V < K ≥ B > M 

Conclusions: 

I. V © B → V < B → as V < K ≥ B → Clear relation between V and B cannot be 
established, hence false. 

II. M © K → M < K → as K ≥ B > M → K > M, hence true. 

III. M © V → M < V → as V < K ≥ B > M → V < K > M → Clear relation between M 
and V cannot be established, hence false. 

Hence, only conclusion II follows. 

 

81. According to the information given, 

P is 

% $ © ⋆ @ 

= >  <  ≤ ≥ 

Of Q 

 
Given statement: D ⋆ R, R % F, F $ T 

On converting: D ≤ R, R = F, F > T 

On combining: D ≤ R = F > T 

Conclusions: 

I. F % D → F = D → as D ≤ R = F → D ≤ F, hence false. 

II. F $ D → F > D → as D ≤ R = F → D ≤ F, hence false. 

III. T © R → T < R → as R = F > T → R > T, hence true. 

Here conclusion I and II form a complementary pair. 

Hence either conclusion I or II and conclusion III follows. 

 

82. According to the information given, 

P is 

% $ © ⋆ @ 

= >  <  ≤ ≥ 
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Of Q 

 
Given statement: N @ D, D ⋆ K, K $ A 

On converting: N ≥ D, D ≤ K, K > A 

On combining: N ≥ D ≤ K > A 

Conclusions: 

I. K @ N → K ≥ N → as N ≥ D ≤ K → Clear relation between K and N cannot be 
established, hence false. 

II. A © D → A < D → as D ≤ K > A → Clear relation between A and D cannot be 
established, hence false. 

III. N $ A → N > A → as N ≥ D ≤ K > A → Clear relation between N and A cannot be 
established, hence false. 

Clearly none of the conclusions follow. 

 

83. According to the information given, 

P is 

% $ © ⋆ @ 

= >  <  ≤ ≥ 

Of Q 

 
Given statement: K @ T, T $ N, N © R 

On converting: K ≥ T, T > N, N < R 

On combining: K ≥ T > N < R 

Conclusions: 

I. R $ K → R > K → as K ≥ T > N < R → K > N < R → Clear relation between R and K 
cannot be established, hence false. 

II. N ⋆ K → N ≤ K → as K ≥ T > N → K > N, hence false. 

III. K $ N → K > N → as K ≥ T > N → K > N, hence true. 

Hence only conclusion III follows. 

 

84. According to the information given, 
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P is 

% $ © ⋆ @ 

= >  <  ≤ ≥ 

Of Q 

 
Given statement: W % K, K © F, D $ F 

On converting: W = K, K < F, D > F 

On combining: W = K < F < D 

Conclusions: 

I. D $ K → D > K → as K < F < D → K < D, hence true. 

II. D $ W → D > W → as W = K < F < D → W < D, hence true. 

III. F @ W → F ≥ W → as W = K < F → W < F, hence false. 

Hence only conclusion I and II follows. 

 

 85. 1. 1st element is symbol that represent first letter of word. (Detail shown below) 

2. 2nd element is Letter that represent last letter of word. 

3. 3rd element is number that represent number of letter in word. 

Ex: @M4à “roam” 

M is last letter of word roam. 

4 is number of letter in word. 

@ is symbol that represent first letter of word “roam” which is ‘R’. 

Hence, @M4 is code for roam. 

According to same rule: 
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According to above coding code of Ajay is #Y4 

Hence, #Y4 is code for Ajay. 

 

86. 1. 1st element is symbol that represent first letter of word. (Detail shown below) 

2. 2nd element is Letter that represent last letter of word. 

3. 3rd element is number that represent number of letter in word. 

Ex: @M4à “roam” 

M is last letter of word roam. 

4 is number of letter in word. 

@ is symbol that represent first letter of word “roam” which is ‘R’. 

Hence, @M4 is code for roam. 

According to same rule: 
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According to above rule 

*K8 

à 8 number of letter in that word 

à K Being last letter of word 

à * Symbol present first letter of word which is ‘T” 

Above these 3 condition will exist in “Testbook” 

Hence, we can say that Testbook will be coded as *K8 

 

87. 1. 1st element is symbol that represent first letter of word. (Detail shown below) 

2. 2nd element is Letter that represent last letter of word. 

3. 3rd element is number that represent number of letter in word. 

Ex: @M4à “roam” 

M is last letter of word roam. 

4 is number of letter in word. 

@ is symbol that represent first letter of word “roam” which is ‘R’. 

Hence, @M4 is code for roam. 

According to same rule: 
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Hence, taxes will be coded as *S5 as shown in above table. 

 

88. 1. 1st element is symbol that represent first letter of word. (Detail shown below) 

2. 2nd element is Letter that represent last letter of word. 

3. 3rd element is number that represent number of letter in word. 

Ex: @M4à “roam” 

M is last letter of word roam. 

4 is number of letter in word. 

@ is symbol that represent first letter of word “roam” which is ‘R’. 

Hence, @M4 is code for roam. 

According to same rule: 



 

123 | P a g e  

 

 

Hence, Exact code of “Ankush” will be “#H6”. 

 

89. Logic: 

1. 1st element is symbol that represent first letter of word. (Detail shown below) 

2. 2nd element is Letter that represent last letter of word. 

3. 3rd element is number that represent number of letter in word. 

Ex: @M4à “roam” 

M is last letter of word roam. 

4 is number of letter in word. 

@ is symbol that represent first letter of word “roam” which is ‘R’. 

Hence, @M4 is code for roam. 

According to same rule: 
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As according to above table 

Vidya will be coded as &A5 

Want will be coded as !T4 

to will be coded as *O2 

texas will be coded as *S5 

intern will be coded as ?N6 

Hence, ‘vidya want to texas intern’ will be coded as “*S5, ?N6, *O2, &A5 !T4”. 

 

90. From the given statements we draw the following least possible Venn diagram: 

 
Conclusions: 

a) All watches of high standard were manufactured by HMT → false as it’s possible 

but not definite. 

b) Some of the HMT watches are of high standard → clearly true. 

c) None of the HMT watches is of high standard → clearly false. 

d) Some of the HMT watches of high standard are sold in that shop→ clearly true. 

Hence only b and d follows. 
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91. Note: Here, a conclusion is definite if it can be shown in a diagram drawn with 

least-possibilities. If a conclusion can’t be shown in least-possibilities diagram then 

the conclusion is possible but not definite. 

On drawing least-possibilities Venn-diagram: 

 

Conclusions: 

I. Some dogs are buses. ⇒ It’s definitely true. 

II. Some dogs are horses. ⇒ It’s definitely true. 

III. Some dogs are goats. ⇒ It’s definitely true. 

IV. Some buses are goats. ⇒ It’s definitely true. 

Hence, all follow. 

 

92. Note: Here, a conclusion is definite if it can be shown in a diagram drawn with 

least-possibilities. If a conclusion can’t be shown in least-possibilities diagram then 

the conclusion is possible but not definite. 

On drawing least-possibilities Venn-diagram: 

 

Conclusions: 

I. Some chairs are trucks ⇒ It’s possible but not definitely true, hence false. 

II. Some chairs are vehicles ⇒ It’s definitely true. 
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III. Some vehicles are buildings ⇒ It’s definitely true. 

IV. No truck is chair⇒ It’s possible but not definitely true, hence false. 

∵ I or IV are complementary pairs i.e. Either Some chairs are Trucks or No chairs are 
Trucks. So, either I or IV will follow. 
Hence, II and III and I or IV follow. 

 

93. From I: ja na pit sod = beautiful bunch of flowers 

From II: na sod pa tok = huge bunch of twigs 

Even using I & II together, we can’t determine the code of pit. It may be beautiful or 
flowers. 

 

94. From II: Radius of the sphere in question part will give us the volume of the 

sphere as well as that of the right circular cylinder. We know height of right circular 

cylinder 

=
Volumeofthecylinder

Areaofthebaseofthecylinder
 

 
 
95. From I: We only know that L and N are sisters of M. 
L(–) – N(–) – M 

From II: We can tell that K has only one son and K is mother of N as well. Hence N 
is girl but K can may have more daughter other than N. 

K(–) 

| 

N(–) 

Now, combining I and II, we get K(–) is mother of N and K has two known 
daughter and only one son. 

L (–) – N (–) – M (gender not known) 

There can be one more child, while M being another daughter of K. 

 

96. As the area is flooded and more water is getting wasted, civic authority should 

immediately arrange to repair the damage and stop the loss of water. Furthermore, 

civic authority should also seek an explanation and compensation from the utility 
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company for the damage caused by them so that it creates an example for other 

companies to abide by the rules. 

 

 

97. Clearly, India can export only the surplus and that which can be saved after 

fulfilling its own needs, to pay for its imports Encouragement to export cannot lead to 

shortages as it shall provide the resources for imports. So, only argument I holds. 

 

98. Only course of action II seems to be appropriate. Course of action I is not feasible 

practically. 

 

99. Clearly, if there were less candidates, the voters would find it easy to make a 

choice. So, argument I holds. Also, every person satisfying the conditions laid down 

by the Constitution must be given an opportunity and should not be denied the same 

just to cut down the number of candidates. So, arguments II also holds strong. 

 

100. An organization like UNO is meant to maintain peace all over and will always 

serve to prevent conflicts between countries. So, its role never ends. So, arguments I 

does not hold. Also, lack of such an organization may in future lead to increased 

mutual conflicts and international wars, on account of lack of a common platform for 

mutual discussions. So, argument II holds. 

 

Quantitative Aptitude 
 

101. Follow BODMAS rule to solve this question, as per the order given below, 

Step-1-Parts of an equation enclosed in 'Brackets' must be solved first, 

Step-2-Any mathematical 'Of' or 'Exponent' must be solved next, 

Step-3-Next, the parts of the equation that contain 'Division' and 'Multiplication' are 

calculated, 
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Step-4-Last but not least, the parts of the equation that contain 'Addition' and 

'Subtraction' should be calculated. 

Now, the given expression, 

2.70 × 2.70 + 4.30 × 4.30 + 8.60 × 2.70

5.40 + 8.60
=?

⇒
2.70 × 2.70 + 4.30 × 4.30 + 2 × 4.30 × 2.70

2 × (2.70 + 4.30)
=?

 

By using the formula: (a+b)2 = a2 + b2 + 2ab, we get 

⇒? =
1

2
×

(2.70 + 4.30)2

2.70 + 4.30
 

 

⇒ ?= ½ × (2.70 + 4.30) 

⇒ ?= 3.5 

 

102. Follow BODMAS rule to solve this question, as per the order given below, 

Step-1-Parts of an equation enclosed in 'Brackets' must be solved first, 

Step-2-Any mathematical 'Of' or 'Exponent' must be solved next, 

Step-3-Next, the parts of the equation that contain 'Division' and 'Multiplication' are 

calculated, 

Step-4-Last but not least, the parts of the equation that contain 'Addition' and 

'Subtraction' should be calculated. 

Now, the given expression, 

5

35
𝑜𝑓

14

3
𝑜𝑓

5

8
𝑜𝑓72 =?

⇒
5

35
×

14

3
×

5

8
× 72 =?

 

 

⇒ ? = 30 



 

129 | P a g e  

 

 

103. Follow BODMAS rule to solve this question, as per the order given below, 

Step-1-Parts of an equation enclosed in 'Brackets' must be solved first, 

Step-2-Any mathematical 'Of' or 'Exponent' must be solved next, 

Step-3-Next, the parts of the equation that contain 'Division' and 'Multiplication' are 

calculated, 

Step-4-Last but not least, the parts of the equation that contain 'Addition' and 

'Subtraction' should be calculated. 

Now, the given expression, 

37% of 150 – 0.05% of 1200 = ? 

⇒? =
37

100
× 150 −

0.05

100
× 1200 

 

⇒ ? = 55.5 – 0.6 = 54.9 

 

104. Given expression is 6x + 2 = (36)2x – 5 

⇒ 6x + 2 = 62(2x – 5) 

⇒ 6x + 2 = 64x – 10 

⇒ x + 2 = 4x – 10 

⇒ 3x = 12 

⇒ x = 4 

 

 

105. Given expression is, 
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(1/9)0 + (9)0 + (343)-1/3 + (36)3/2 

= 1 + 1 + (7)3 × -1/3 + 6 2 × 3/2 

= 2 + (7)-1 + (6)3 

= 218 + (1/7) 

=
1526 + 1

7
=

1527

7
 

 

106.  

I. x2 – 7x – 18 = 0 

⇒ x2 – 9x + 2x – 18 = 0 

⇒ x(x – 9) + 2(x – 9) = 0 

⇒ (x – 9)(x + 2) = 0 

Then, x = + 9 or x = - 2 

II. y2 – 20y + 99 = 0 

⇒ y2 – 11y – 9y + 99 = 0 

⇒ y(y – 11) – 9(y – 11) = 0 

⇒ (y – 11)(y – 9)= 0 

Then, y = + 11 or y = + 9 

So, when x = + 9, x < y for y = + 11 and x = y for y = + 9 

And when x = - 2, x < y for y = + 11 and x < y for y = + 9 

∴ So, we can clearly observe that x ≤ y. 

 

107.  
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I. 28x2 + 49x – 14 = 0 

⇒ 4x2 + 7x – 2 = 0     [Dividing both sides by 7] 

⇒ 4x2 + 8x – x – 2 = 0 

⇒ 4x(x + 2) – 1(x + 2) = 0 

⇒ (x + 2)(4x – 1) = 0 

Then, x = - 2 or x = + ¼  

II. 2y2 – 3y – 2 = 0 

⇒ 2y2 – 4y + y – 2 = 0 

⇒ 2y(y – 2) + 1(y – 2) = 0 

⇒ (y – 2)(2y + 1) = 0 

Then, y = + 2 or y = - ½  

So, when x = - 2, x < y for y = + 2 and x < y for y = - ½ 

And when x = + ¼ , x < y for y = + 2 and x > y for y = - ½ 

∴ So, we can observe that no clear relationship cannot be determined between x and 

y. 

 

108.  

I. 10x2 + x – 3 = 0 

⇒ 10x2 +6x – 5x – 3 = 0 

⇒ 2x(5x + 3) – 1(5x + 3) = 0 

⇒ (5x + 3)(2x – 1) = 0 

Then, x = - 3/5 or x = + ½ 

II. 15y2 + 19y + 6 = 0 
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⇒ 15y2 + 10y + 9y + 6 = 0 

⇒ 5y(3y + 2) + 3(3y + 2) = 0 

⇒ (3y + 2)(5y + 3) = 0 

Then, y = - 2/3 or y = - 3/5 

So, when x = -3/5, x > y for y = - 2/3 and x = y for y = - 3/5 

And when x = +1/2, x > y for y = - 2/3 and x > y for y = - 3/5 

∴ So, we can clearly observe that x ≥ y. 

 

109.  

I. 14x2 – 19x – 3 = 0 

⇒ 14x2 – 21x + 2x – 3 = 0 

⇒ 7x(2x – 3) + 1(2x – 3) = 0 

⇒ (2x – 3)(7x + 1) = 0 

Then, x = + 3/2 or x = - 1/7 

II. 6y2 + 7y – 24 = 0 

⇒ 6y2 + 16y – 9y – 24 = 0 

⇒ 2y(3y + 8) – 3(3y + 8) = 0 

⇒ (3y + 8)(2y – 3) = 0 

Then, x = - 8/3 or y = + 3/2 

So, when x = + 3/2, x > y for y = - 8/3 and x = y for y = + 3/2 

And when x = - 1/7, x > y for y = - 8/3 and x < y for y = + 3/2 

∴ So, we can observe that no clear relationship cannot be determined between x and 

y. 
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110.  

I. 2x2 + 13x + 18 = 0 

⇒ 2x2 + 4x + 9x + 18 = 0 

⇒ 2x(x + 2) + 9(x + 2) = 0 

⇒ (x + 2)(2x + 9) = 0 

Then, x = - 2 or x = - 9/2 

II. 4y2 + 3y – 1 = 0 

⇒ 4y2 + 4y – y – 1 = 0 

⇒ 4y(y + 1) - 1(y + 1) = 0 

⇒ (y + 1)(4y – 1) = 0 

Then, y = - 1 or y = + ¼ 

So, when x = - 2, x < y for y = - 1 and x < y for y = + ¼ 

And when x = - 9/2, x < y for y = - 1 and x < y for y = + ¼ 

∴ So, we can clearly observe that x < y. 

 

111.  

Population of G = 8410 

Number of females in G = 18/29 × 8410 = 5220 

Number of uneducated females = 65% of 5220 =
65×5200

100
= 3393 

 

Number of uneducated people in G = 17/29 × 8410 = 4930 

 

Number of uneducated males in G = 4930 – 3393 = 1537  
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112.  

 Number of uneducated people of area E = 13/19 × 3800 = 2600 

Number of educated people of area C = 4/17 × 3400 = 800 

∴ Required difference = 2600 – 800 = 1800 

 

113.   

Number of educated people in area F = 8/17 × 5100 = 2400 

Number of educated people in area A = 7/10 × 2500 = 1750 

Required percentage =
2400−1750

1750
× 100 = 37.14% 

 

114.  

Seven 

Rural 

areas 

Educated : 

Uneducated 

(A : B) 

Population 

(N) 

Number of 

educated people 

𝑁𝐸 = (
𝐴

𝐴 + 𝐵
) × 𝑁 

Percentage of 

educated people 

𝑁𝐸

𝑁
× 100 

A 7 : 3 2500 1750 70 

B 11 : 13 5760 2640 45.83 

C 4 : 13 3400 800 23.53 

D 9 : 7 3200 1800 56.25 

E 6 : 13 3800 1200 31.57 

F 8 : 9 5100 2400 47.06 

G 12 : 17 8410 3480 41.38 
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Clearly, area A has the maximum percentage of educated people.  

 

115.   

Total population of area D = 3200 

Number of uneducated people in area D =
7

7+9
× 3200 =

7

16
× 3200 = 1400 

 

∵ 40% of the uneducated people are males, 

 

Number of uneducated females = 60% of 1400 =
60×1400

100
= 840 

 

 

116.  

 

Harry has bought a pen for Rs. 50. He sold it to Monica at a profit of 30%. 

We know, Selling Price=Cost Price × (1 +
𝑃𝑟𝑜𝑓𝑖𝑡𝑃𝑒𝑟𝑐𝑒𝑛𝑡𝑎𝑔𝑒

100
) 

 

Selling price for Harry = Cost price for Monica = 50 × (1 + 30/100) = 65 

Selling price for Monica = Cost price for Chris = 65 × (1 + 70/100) = 110.5 

∴ Monica should sell the pen to Chris at Rs. 110.5. 

 

 

117.  

Simple Interest = (P × R × T)/100 

 

Where, P = Principal, R = % rate of interest, T = time period in year 
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As per given information, Simple interest = 60% of principal 

∴ 0.6P = (P × R × 4)/100 

⇒ R = 15 

Now let's find out the compound interest of Rs. 48,000 after 2 years at 10% 

 

P = Rs. 48,000 

 

T = 2 years 

 

R = 15% 

Amount after 2 years = 𝑃(1 +
𝑅

100
)𝑇 = 48000(1 +

15

100
)2 = 48000(

115

100
)2 = 48000(

23

20
)2 

= 63480 

 

Compound Interest = Rs.63480 - Rs.48000 = Rs.15480 

 

118.  

We know that the volume of a cylinder with base radius r cm. & height h cm. = π × 

r2 × h 

The volume of a cone with base radius r cm. & height h cm. = ⅓ × π × r2 × h 

Now the cylindrical bucket of height 36 cm and radius 21 cm is filled with iron ore 

fine. 

∴Volume of iron ore fine present in the cylindrical bucket = π × 212 × 36 = 49896 cm3 

Now the same volume of iron ore fine is present in the conical heap of height 12 cm. 

So if the base radius of the heap = w cm then we can write, 

⅓ × π × w2 × 12 = 49896 

⇒ w = 63 cm. 
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The radius of the heap at the base is 63 cm. 

 

119.  

There are 3 vowels in word TESTBOOK, E, O and O. If there are vowels at first and 

last position, this is possible in 3 ways. 

E at first and O at last, O at first and E at last, and O at both first and last. 

In each of the three cases, the remaining six letters that have to come in between will 

be different except that T will be occur twice. 

⇒ Remaining 6 letters can be arranged in 6!/2! Ways, i.e., 360 ways. 

∴ Total number of ways in which this can be done = 3 × 360 = 1080 

 

120.  

Let the total work be 1 unit 

40% of work completed in 25 days = 0.4 units = w1 

Remaining work = 1- 0.4 = 0.6 units = w2 

0.6 units of work need to be completed in 25 days 

According to the question: 

60 men completed 0.4 works in 25 days 

∴
𝑚1𝑑1ℎ1

𝑤1
=

𝑚2𝑑2ℎ2

𝑤2
 

⇒ m1 × d1 × w2 = m2 × d2 × w1 

⇒ 60 × 25 × 0.6 = m2 × 25 × 0.4 

⇒ m2 = 
60×25×0.6

0.4×25
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⇒ m2 = 90 men 

∴ Number of additional men = 90 – 60 

Hence, Number of additional men required to complete the work on time is 30. 

 

121.  

The given series is in following pattern: 

519 – 97 = 422 

422 – 80 = 342 

342 – 63 = 279 

279 – 46 = 233 

233 – 29 = 204 

(difference decreases by 17) 

So, the required number is 279. 

122.  

The pattern of given series is: 

→ 9, 

→ 16 = 9 × 2 - 2, 

→ 60 = 16 × 4 - 4, 

→ 354 = 60 × 6 - 6, 

→ 2824 = 354 × 8 - 8, 

→ ? = 2824 × 10 - 10, 

→ ? = 28230 
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Thus, the missing number is 28230. 

 

123.  

The given series is in following pattern: 

1 

1 + 7 = 8 

8 + 14 = 22   

22 + 21 = 43 ≠ 45 

43 + 28 = 71 

71 + 35 = 106 

106 + 42 = 148 

So, the wrong number is 45. 

 

124.  

 The given series is in the pattern: 

→ 7 = 23 – 13 

→ 37 = 43 – 33 

→ 91 = 63 – 53 

→ 167 ≠ 83 – 73 = 169 

→ 271 = 103 – 93 

→ 397 = 123 – 113 

So, the wrong term in the series is 167. 
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125.  

The pattern of given series is: 

→ 6, 

→ 15 = 6 + 9, 

→ 33 = 15 + 18, (9 × 2 = 18) 

→ 69 = 33 + 36, (18 × 2 = 36) 

→ 141 = 69 + 72, (36 × 2 = 72) 

→ 285= 141 + 144, (72 × 2 = 144) 

Based on the above pattern we can create the following series 

a : 11 = 2 + 9, 

b : 29 = 11 + 18, 

c : 65 = 29 + 36, 

d : 137 = 65 + 72, 

e : 281 = 137 + 144, 

Hence, (e) = 281 

Comp. 126 - 130 

126.  

∵ Turnover in Tanzania = $ 40 million 

∵ Turnover in Africa = $ 120 million 

∴ Turnover in Rest of Africa = 120 – 40 = $ 80 million 

Items 
Turnover of each 

item in Tanzania 

Turnover of each 

item in Africa 

Turnover of each 

item in Rest of 

Africa 
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(in $ millions) (in $ millions) (in $ millions) 

Electrical Goods 20% of 40 = 8 15 15 – 8 = 7 

Leather Goods 25% of 40 = 10 30 30 – 10 = 20 

Garments 30% of 40 = 12 40 40 – 12 = 28 

Handicrafts 10% of 40 = 4 20 20 – 4 =16 

Ivory Items 15% of 40 = 6 10 10 – 6 = 4 

Others 0 5 5 

 

Since turnover from Rest of Africa for Handicrafts increases by 20% 

∴ New Turnover from rest of Africa for Handicrafts = 120% of 16 =19.2 million 

Also, since turnover from Tanzania for electrical goods decreases by 20% 

∴ New Turnover from Tanzania for electrical goods = 80% of 8 = 6.4 million 

∴ Required ratio = 6.4 : 19.2 = 1 : 3 

 

127.  

∵ Turnover in Tanzania = $ 40 million 

∵ Turnover in Africa = $ 120 million 

∴Turnover in Rest of Africa = 120 – 40 = $ 80 million 

Items 

Turnover of each 

item in Tanzania 

(in $ millions) 

Turnover of each 

item in Africa 

(in $ millions) 

Turnover of each 

item in Rest of 

Africa 

(in $ millions) 

Electrical Goods 20% of 40 = 8 15 15 – 8 = 7 
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Leather Goods 25% of 40 = 10 30 30 – 10 = 20 

Garments 30% of 40 = 12 40 40 – 12 = 28 

Handicrafts 10% of 40 = 4 20 20 – 4 =16 

Ivory Items 15% of 40 = 6 10 10 – 6 = 4 

Others 0 5 5 

 

∴ Required percentage  =
12+6

15+30
× 100 =

18

45
× 100 = 40% 

 

128.  

∵ Turnover in Tanzania = $ 40 million 

∵ Turnover in Africa = $ 120 million 

∴Turnover in Rest of Africa = 120 – 40 = $ 80 million 

Items 

Turnover of each 

item in Tanzania 

(in $ millions) 

Turnover of each 

item in Africa 

(in $ millions) 

Turnover of each 

item in Rest of 

Africa 

(in $ millions) 

Electrical Goods 20% of 40 = 8 15 15 – 8 = 7 

Leather Goods 25% of 40 = 10 30 30 – 10 = 20 

Garments 30% of 40 = 12 40 40 – 12 = 28 

Handicrafts 10% of 40 = 4 20 20 – 4 =16 

Ivory Items 15% of 40 = 6 10 10 – 6 = 4 

Others 0 5 5 
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∴ Turnover from Tanzania for Electrical goods and Handicrafts = 8 + 4 = 12 million 

∴ Turnover from Rest of Africa for Garments = 28 million 

∴ Required ratio = 12/28 = 0.428 ≈ 0.43 

 

129.  

∵ Turnover in Tanzania = $ 40 million 

∵ Turnover in Africa = $ 120 million 

∴ Turnover in Rest of Africa = 120 – 40 = $ 80 million 

Items 

Turnover of each 

item in Tanzania 

(in $ millions) 

Turnover of each 

item in Africa 

(in $ millions) 

Turnover of each 

item in Rest of 

Africa 

(in $ millions) 

Electrical Goods 20% of 40 = 8 15 15 – 8 = 7 

Leather Goods 25% of 40 = 10 30 30 – 10 = 20 

Garments 30% of 40 = 12 40 40 – 12 = 28 

Handicrafts 10% of 40 = 4 20 20 – 4 =16 

Ivory Items 15% of 40 = 6 10 10 – 6 = 4 

Others 0 5 5 

 

∴ Turnover from Rest of Africa for Ivory and Handicrafts together = 16 + 4 = 20 

million 

∴ Turnover from Tanzania for Garments and Leather good together = 10 + 12 = 22 

million 

∴ Required ratio = 20:22 = 10:11 
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130.  

 ∵ Turnover in Tanzania = $ 40 million 

∵ Turnover in Africa = $ 120 million 

∴Turnover in Rest of Africa = 120 – 40 = $ 80 million 

Items 

Turnover of each 

item in Tanzania 

(in $ millions) 

Turnover of each 

item in Africa 

(in $ millions) 

Turnover of each 

item in Rest of 

Africa 

(in $ millions) 

Electrical Goods 20% of 40 = 8 15 15 – 8 = 7 

Leather Goods 25% of 40 = 10 30 30 – 10 = 20 

Garments 30% of 40 = 12 40 40 – 12 = 28 

Handicrafts 10% of 40 = 4 20 20 – 4 =16 

Ivory Items 15% of 40 = 6 10 10 – 6 = 4 

Others 0 5 5 

 

∴ Percentage of Rest of Africa turnover for Handicrafts =
16

80
× 100 = 20% 

 

131.  
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ABCD is the rectangular paper. 

Case 1: When folded along length. 

According to the question, after folding the paper, two congruent parts form. ABEF & 

FECD. 

The perimeter of each part is 48 cm. 

⇒ If AB = L cm. & AD = B cm. then, 

2 × (B/2 + L) = 48 

⇒ 2L + B = 48                  …………….. (1) 

Case 2: When folded along breadth. 

According to the question, after folding the paper, two congruent parts form. AGHD 

& GHCB. 

The perimeter of each part is 44 cm. 

⇒ If AB = L cm. & AD = B cm. then, 

2 × (L/2 + B) = 44 

⇒ L + 2B = 44                  …………….. (2) 

Solving (1) & (2) together we get, 

B= 40/3 cm & L=52/3 cm. 

Area of the paper = L × B ≈ 231.11 sq. cm. 
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132.  

We know that, 

Average = (Sum of all observations)/(Number of observations) 

Average weight of A, B, C and D = 82 kg 

(A + B + C + D)/4 = 82 

A + B + C + D = 328 

When D is excluded, average weight of A, B and C = 86 kg 

(A + B + C)/3 = 86 

A + B + C = 258 

D = 328 – 258 = 70 kg 

Weight of E = 70 + 3 = 73 kg 

(B + C + D + E)/4 = 80 

B + C + D + E = 320 

B + C = 320 – (70 + 73) 

B + C = 177 

A + B + C = 258 

A = 258 – 177 = 81 kg 

 

133.  

Speed = distance/time 

Given that, in a 100m race, Abhishek and Srijan completed the race in 11.25 and 12.5 

seconds, respectively. 

Speed of Abhishek, va = 100/11.25 m/sec 
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And speed of Srijan, vb = 100/12.5 m/sec 

Distance travelled by Srijan in 11.25 sec = 
100

12.5
× 11.25 = 90𝑚 

 

Distance travelled by Abhishek in 11.25 sec = 100m 

 

Thus, distance by which Abhishek beat Srijan = 100 – 90 = 10 m 

 

134.  

Ratio of savings and expenditure of Lucy in a month = 2:7 

Ratio of savings and expenditure of Lucy’s husband in a month = 1:3 

Let us suppose that savings and expenditure of Lucy be 2t and 7t, respectively, 

and, let us suppose that savings and expenditure of Lucy’s husband be y and 3y, 

respectively, 

If Lucy starts savings Rs. 1000 more, 

Savings of Lucy = Savings of Lucy’s husband. 

2t + 1000 = y --------- (i) 

Also, total expenditure = Rs. 16000 

7t + 3y = 16000 -------- (ii) 

Multiply equation (i) by 3 and add A to equation (ii) 

3(2t + 1000) + 7t + 3y = 3y + 16000 

⇒ 6t + 3000 + 7t = 16000 

13t = 13000 

t= 1000 

Substitute in equation (i) 
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2 × 1000 + 1000 = y 

⇒ y = 3000 

∴ Total savings in a month = 2t + y = 2 × 1000 + 3000 = 5000 

∴ Total savings in a year = 12 × 5000 = Rs. 60000 

 

135.  

Let age of wife be W years. 

When the child was born, the age of wife was two years less than husband. So, 

husband is two years elder than wife. 

⇒ Age of husband = (W + 2) years 

⇒ Age of child = (55 – W – W – 2) years = (53 – 2W) years 

After 9 years, the ratio of ages of husband and child will be 3:1. 

⇒ (W + 2 + 9) / (53 – 2W + 9) = 3/1 

⇒ W + 11 = 186 – 6W 

⇒ W = 175/7 = 25 

∴ Present age of wife is 25 years. 

 

136.  

Let, Two digit number = 10x + y 

From statement I- 

We can’t conclude the number without knowing both the digits and there is no 

sufficient data given to find these two digits in the statement I, therefore this 

statement alone is not sufficient to answer the question. 
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From statement II- 

We can’t conclude the number without knowing both the digits and there is no 

sufficient data given to find these two digits in the statement II, therefore this 

statement alone is not sufficient to answer the question. 

From statement I and II 

Using both statement I and II 

x – y = 7  …..(1) 

x + y = 11 …..(2) 

(1) + (2) 

x- y + x + y = 7 + 11 

⇒ 2x = 18 

⇒ x = 9 

Putting x = 9 in equation (2) 

y = 11 – 9 = 2 

∴ Two digit number is = 10 × 9 + 2 = 92 

The data in both the statements I and II together are necessary to answer the 

question. 

 

137.  

Given, two friends Trishali and Krishna have their ages in ratio of 4:7 

Statement A The ages of Trishali and Dhanus are in the ratio 4:2 

∴ Ratio of ages Dhanush and Krishna = 2 : 7 

Let age of Dhanush be 2x years and of Krishna be 7x years 

Statement B Six years later, the ratio of Dhanush’s and Krishna’s ages will be 5:6 
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∴ after 6 years, age of Dhanush and Krishna will be (2x + 6) and (7x + 6) years 

respectively 

⇒
2𝑥 + 6

7𝑥 + 6
=

5

6
 

 

Thus, we need both the statements to find the age of Krishna. 

 

138.  

Given, total expense was Rs. 60, 000 

∴ A + B + C + D + E + F = 60, 000 eq (1) 

Statement A Total of the expenses of A and E is Rs. 25, 000 

∴ A + E = 25000 eq (2) 

Statement B Total of the expenses of B and F is Rs. 15, 600. 

∴ B + F = 15600 eq (3) 

From eq 1, 2 and 3, we get 

C + D = 19, 400 

We can’t calculate expenses of C until we don’t know expenses of D. Thus, we need 

more data to solve the problem. 

 

139.  

We have to calculate the age of class teacher. 

Combining statement I, II & III: 

There are 11 students in the class. 

The average age of students and the teacher is 14 years. 
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The average of the teacher and student age is 3 years more than that of students. 

Total age of students & teacher = (number of students + teacher) × the average age of 

students and the teacher 

⇒ Total age of students & teacher = 12 × 14 = 168 

From statement 3, average age of students only, (14 – 3) = 11 

⇒ Total age of students = average age of students × number of students 

⇒ Total age of students = 11 × 11 = 121 

Age of teacher = Total age of students & teacher - Total age of students 

⇒ Age of teacher = 168 – 121 = 47 years 

∴ All the three statements are required. 

 

140.  

Compounded amount at the end of n years, A = P(1 +
R

100
)𝑡 

Where, P = principal amount = Rs.1000 

Rate = r and n is time - period. 

From statement I, 

The interest after one year was Rs. 100/- 

n = 1 year, 

CI = Rs.100,  

For the first year, CI = Simple interest 

∴ SI = Rs.100 

As, S.I = (PRT/100) 

∴100 = (1000 × R × 1)/100 
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⇒ R = 10% 

 After n = 3 years, for C.I 

𝐴 = 1000(1 +
10

100
)3 

 

A = 1331 

⇒ CI = Rs.1331 – Rs.1000 = Rs.331 

Thus, statement I alone is sufficient to reach at the solution. 

From statement II, 

The difference between simple and compound interest on a principal amount of Rs. 

1,000 at the end of two years was Rs. 10 

∴ CI – SI = Rs.10 

n = 3 years 

P = Rs.1000 

For 2 years, CI – SI = (P × R2)/1002 

∴ 10 = (1000 × R2)/1002 

⇒ R2 = 100 

⇒ R = 10% (∵ rate cannot be negative) 

 Compounded amount at the end of n years, A = P(1 +
R

100
)𝑡 

 

Where, P = principal amount = Rs.1000 

 

Rate = R = 10% and n is time - period. = 3 years 

∴ using above formula, we can find the compound interest for 3 years 

⇒ CI = Rs.331 
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Thus, statement II alone is sufficient to reach at the solution. 

Thus, the data either in statement I alone or in statement II alone are sufficient to 

answer the question 

141.  

Given that total no. of people in the colony = 200, and the ratio of men to women = 3 

: 2 

⇒ No. of men in the colony = 
3

5
× 200 = 120 

 

Hence, no. of women in the colony = 200 – 120 = 80 

Also, given that 60 % of people enjoy classical music only, 

⇒ No. of people who enjoy classical music only = 
60

100
× 200 = 120 

 

And given that the ratio of men to women who enjoy classical music only is 7 : 5, 

⇒ No. of men who enjoy classical music only = 
7

12
× 120 = 70 

 

Hence, the no. of women who enjoy classical music only = 120 – 70 = 50 

To find the no. of women who enjoy only modern music, we use the following, 

No. of women who enjoy only modern music = Total no. of women – No. of women 

who enjoy only classical – No. of women who enjoy both kinds of music 

⇒ No. of women who enjoy only modern music = 80 – 50 – 12 = 18 

The ratio of men who enjoy both types of music to that of women who enjoy only 

modern music is known to be 1 : 3. 

⇒
𝑀𝑒𝑛𝑤ℎ𝑜𝑒𝑛𝑗𝑜𝑦𝑏𝑜𝑡ℎ𝑘𝑖𝑛𝑑𝑠𝑜𝑓𝑚𝑢𝑠𝑖𝑐

𝑊𝑜𝑚𝑒𝑛𝑤ℎ𝑜𝑒𝑛𝑗𝑜𝑦𝑜𝑛𝑙𝑦𝑚𝑜𝑑𝑒𝑟𝑛𝑚𝑢𝑠𝑖𝑐
=

1

3

⇒
𝑀𝑒𝑛𝑤ℎ𝑜𝑒𝑛𝑗𝑜𝑦𝑏𝑜𝑡ℎ𝑘𝑖𝑛𝑑𝑠𝑜𝑓𝑚𝑢𝑠𝑖𝑐

18
=

1

3
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⇒ Men who enjoy both kinds of music = 18/3 = 6 

We can now calculate the men who enjoy modern music only 

No. of men who enjoy modern music only = Total men – No. of men who enjoy 

classical music only – Men who enjoy both types of music 

⇒ No. of men who enjoy modern music only = 120 – 70 – 6 = 44 

The ratio of men who enjoy only classical music to that of men who enjoy only 

modern music is 70 : 44 (or) 35 : 22 

 

142.  

Given that total no. of people in the colony = 200, and the ratio of men to women = 3 

: 2 

⇒ No. of men in the colony = 
3

5
× 200 = 120 

 

Hence, no. of women in the colony = 200 – 120 = 80 

Also, given that 60 % of people enjoy classical music only, 

⇒ No. of people who enjoy classical music only = 
60

100
× 200 = 120 

 

And given that the ratio of men to women who enjoy classical music only is 7 : 5, 

⇒ No. of men who enjoy classical music only = 
7

12
× 120 = 70 

 

Hence, the no. of women who enjoy classical music only = 120 – 70 = 50 

To find the no. of women who enjoy only modern music, we use the following, 

No. of women who enjoy only modern music = Total no. of women – No. of women 

who enjoy only classical – No. of women who enjoy both kinds of music 
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⇒ No. of women who enjoy only modern music = 80 – 50 – 12 = 18 

The ratio of men who enjoy both types of music to that of women who enjoy only 

modern music is known to be 1 : 3. 

⇒
𝑀𝑒𝑛𝑤ℎ𝑜𝑒𝑛𝑗𝑜𝑦𝑏𝑜𝑡ℎ𝑘𝑖𝑛𝑑𝑠𝑜𝑓𝑚𝑢𝑠𝑖𝑐

𝑊𝑜𝑚𝑒𝑛𝑤ℎ𝑜𝑒𝑛𝑗𝑜𝑦𝑜𝑛𝑙𝑦𝑚𝑜𝑑𝑒𝑟𝑛𝑚𝑢𝑠𝑖𝑐
=

1

3

⇒
𝑀𝑒𝑛𝑤ℎ𝑜𝑒𝑛𝑗𝑜𝑦𝑏𝑜𝑡ℎ𝑘𝑖𝑛𝑑𝑠𝑜𝑓𝑚𝑢𝑠𝑖𝑐

18
=

1

3

 

⇒ Men who enjoy both kinds of music = 18/3 = 6 

We can now calculate the men who enjoy modern music only 

No. of men who enjoy modern music only = Total men – No. of men who enjoy 

classical music only – Men who enjoy both types of music 

⇒ No. of men who enjoy modern music only = 120 – 70 – 6 = 44 

 

143.  

Given that total no. of people in the colony = 200, and the ratio of men to women = 3 

: 2 

⇒ No. of men in the colony = 
3

5
× 200 = 120 

Hence, no. of women in the colony = 200 – 120 = 80 

Also, given that 60 % of people enjoy classical music only, 

⇒ No. of people who enjoy classical music only = 
60

100
× 200 = 120 

 

And given that the ratio of men to women who enjoy classical music only is 7 : 5, 

⇒ No. of men who enjoy classical music only = 
7

12
× 120 = 70 

 

Hence, the no. of women who enjoy classical music only = 120 – 70 = 50 

To find the no. of women who enjoy only modern music, we use the following, 
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No. of women who enjoy only modern music = Total no. of women – No. of women 

who enjoy only classical – No. of women who enjoy both kinds of music 

⇒ No. of women who enjoy only modern music = 80 – 50 – 12 = 18 

The ratio of men who enjoy both types of music to that of women who enjoy only 

modern music is known to be 1 : 3. 

⇒
𝑀𝑒𝑛𝑤ℎ𝑜𝑒𝑛𝑗𝑜𝑦𝑏𝑜𝑡ℎ𝑘𝑖𝑛𝑑𝑠𝑜𝑓𝑚𝑢𝑠𝑖𝑐

𝑊𝑜𝑚𝑒𝑛𝑤ℎ𝑜𝑒𝑛𝑗𝑜𝑦𝑜𝑛𝑙𝑦𝑚𝑜𝑑𝑒𝑟𝑛𝑚𝑢𝑠𝑖𝑐
=

1

3

⇒
𝑀𝑒𝑛𝑤ℎ𝑜𝑒𝑛𝑗𝑜𝑦𝑏𝑜𝑡ℎ𝑘𝑖𝑛𝑑𝑠𝑜𝑓𝑚𝑢𝑠𝑖𝑐

18
=

1

3

 

⇒ Men who enjoy both kinds of music = 18/3 = 6 

 

144 

Given that total no. of people in the colony = 200, and the ratio of men to women = 3 

: 2 

⇒ No. of men in the colony = 
3

5
× 200 = 120 

 

Hence, no. of women in the colony = 200 – 120 = 80 

Also, given that 60 % of people enjoy classical music only, 

⇒ No. of people who enjoy classical music only = 
60

100
× 200 = 120 

And given that the ratio of men to women who enjoy classical music only is 7 : 5, 

⇒ No. of men who enjoy classical music only = 
7

12
× 120 = 70 

Hence, the no. of women who enjoy classical music only = 120 – 70 = 50 

To find the no. of women who enjoy only modern music, we use the following, 

No. of women who enjoy only modern music = Total no. of women – No. of women 

who enjoy only classical – No. of women who enjoy both kinds of music 

⇒ No. of women who enjoy only modern music = 80 – 50 – 12 = 18 
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145 

Given that total no. of people in the colony = 200, and the ratio of men to women = 3 

: 2 

⇒ No. of men in the colony = 
3

5
× 200 = 120 

Hence, no. of women in the colony = 200 – 120 = 80 

Also, given that 60 % of people enjoy classical music only, 

⇒ No. of people who enjoy classical music only = 
60

100
× 200 = 120 

And given that the ratio of men to women who enjoy classical music only is 7 : 5, 

⇒ No. of men who enjoy classical music only = 
7

12
× 120 = 70 

 

146.   

Let the length of the train be x m and the speed be y m/s. 

While crossing a man, train covers a distance equal to its own length. 

∴ x/y = 5 

⇒ x = 5y 

While crossing a platform, train covers a distance equal too its own length and length 

of platform. 

∴ length of train and platform together = (x + 154) m 

∴
𝑥 + 154

𝑦
= 12 

⇒ x + 154 = 12y 

⇒ 5y + 154 = 12y    (Putting the value x = 5y) 

⇒ y = 154/7 = 22 
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∴ Length of the train = 5 × 22 = 110 m 

Speed of the train = 22 m/s 

 

 147.  

The unit’s digit in the product of (3127)174 as the unit digit therefore it will be 

dependent on 7174 so, we have to calculate the unit digit of 7174 

Now if we look at the powers of 7 mod 10 then we will get the unit digit 

71 = 7 → unit’s digit is 7 

72 = 49 → unit’s digit is 9 

73 = 343 → unit’s digit is 3 

74 = 2401 → unit’s digit is 1 

75 → unit’s digit is 1 × 7 = 7 

Therefore the cycle repeats. 

7174 will be equivalent to, 

7174 = 7 (4×43)+ 2 → unit’s digit same as that in 72 = 9 

Hence, the unit digit is 9 

 

148.  

Suppose Adam bought T liters of milk. 

⇒ Cost price for Adam = T × Rs. 50 = Rs. 50T 

After mixing 12 liters of water, total quantity of mixture becomes (T + 12) liters. 

This mixture is sold at Rs. 60 per liter. 

⇒ Selling price = (T + 12) × Rs. 60 = Rs. (60T + 720) 
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Profit earned = 32% 

We know, Selling Price = Cost Price × (1 +
𝑃𝑟𝑜𝑓𝑖𝑡𝑃𝑒𝑟𝑐𝑒𝑛𝑡𝑎𝑔𝑒

100
) 

 

⇒ 60T + 720 = 50T × (1 + (32/100) 

⇒ 60T + 720 = 66T 

⇒ T = 720/6 = 120 

∴ Adam bought 120 liters of milk. 

 

149.  

Let’s assume that PA is the probability that event A occurs and PB is the probability 

that event B occurs. 

∴ probability that A does not occur = 1 – PA 

∴ probability that B does not occur = 1 – PB 

∵ the two events are independent, 

The probability that both occur = PA × PB = 1/12 

Similarly, the probability that neither A not B occurs = (1 – PA) × (1 – PB) = ½ 

⇒ 1 – PB – PA + PA.PB = ½ 

⇒ 1 – (PA + PB) =
1

2
−

1

12
=

5

12
 

 

⇒ PA + PB = 7/12                     ------(i) 

We know that, (PA – PB)2 = (PA + PB)2 – 4PA.PB 

⇒ (PA – PB)2 = (
7

12
)2 − (4 ×

1

12
) =

49

144
−

4

12
=

1

144
 

 

⇒ PA – PB = 1/12 or (-1/12)                 -------(ii) 
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Solving equation (i) and (ii) simultaneously, gives: 

PA = 1/3 and PB = ¼     OR       PA = ¼ and PB = 1/3 

∴ PA = 1/3 and PB = ¼ (or) PA = ¼ and PB = 1/3 is the solution. 

 

150.  

 Let’s assume that ‘24x’ kg each of Alloy M and Alloy N are mixed to form ‘48x’ kg of 

Alloy P 

∵ the ratio Silver : Iron in Alloy M = 7 : 5 

⇒ Amount of Silver in Alloy M = 
7

7+5
× 24𝑥 = 14x kg 

 

⇒ Amount of Iron in Alloy M = 24x – 14x = 10x kg 

∵ the ratio Silver : Iron in Alloy N = 7 : 17 

⇒ Amount of Silver in Alloy N = 
7

7+17
× 24𝑥 = 7x kg 

 

⇒ Amount of Iron in Alloy N = 24x – 7x = 17x kg 

∵ They are mixed in equal quantities to make another alloy P of 48x kg. 

∴ Total amount of Silver in Alloy P = Total amount of Silver in Alloy M + total 

amount of silver in Alloy N 

⇒ Total amount of Silver in Alloy P = 14x + 7x = 21x 

Similarly, Total amount of Iron in Alloy P = 10x + 17x = 27x 

∴ Ratio of Silver : Iron in Alloy P = 21x : 27x = 7 : 9 

Professional Knowledge: Marketing  

151. A company is practicing niche marketing, if it focuses on sub segments with 

distinctive traits that may seek a special combination of benefits. Niches do not ‘exist’ 
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but are ‘created’ by identifying needs, wants and requirements that are being 

addressed poorly or not at all by other firms, and developing and delivering goods or 

services to satisfy them. As a strategy, niche marketing is aimed at being a big fish in 

a small pond instead of being a small fish in a big pond. It is also called micro-

marketing. 

152. When someone purchases air conditioning unit in the winter to avoid the high 

prices found in the summer, he is exhibiting irregular demand. A product that 

demonstrates irregular demand within its target market of consumers can result in 

problems for a business as its production capacity either becomes idle in times of low 

demand or overwhelmed in times of high demand. 

153. A filling-out strategy means adding sizes or styles not previously available in a 

product category. This is also known as line extension – using a successful brand 

name to introduce additional items in a given product category under the same brand 

name, such as new flavors, forms, colors, added ingredients, or package sizes. Line 

extension is the least risky way of introducing new products. A company can 

conversely use a contracting strategy by removing sizes or styles, particularly when 

some of the items are not profitable.  

154. Marketing people are involved in marketing 10 types of entities: goods, services, 

experiences, events, persons, places, properties, organizations, information and 

ideas.  

Services: As economics advance, a growing proportion of their activities are focused 

on the production of services. Services include airlines, hotels and maintenance and 

repair as well as professionals such as accountants, lawyers, engineers and doctors. 

155. The six stages of the consumer buying decision process: problem recognition 

(awareness of need), information search, evaluation of alternatives, purchase 

decision, purchase and post-purchase evaluation. In post-purchase evaluation stage, 

the consumer determines whether they are satisfied or dissatisfied with the 

purchasing outcome. It is here where cognitive dissonance occurs. 

156. Market price per square of common stock is a useful analytical tool when 

determining whether an investment in a company is worthwhile or not. Market price 

of a share of common stock is determined by individuals buying and selling the stock. 

157. Premium (or discount) = (price – NAV)/NAV 

i.e., 4% = (price – Rs. 10)/Rs. 10 

= price = 4 × 10 + 10 = 50 

The current market price of fund’s share is Rs. 50. 
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158. When a company enters a new product category for which its current brand 

names are not appropriate, it will likely follow new brand strategies. 

159. A mutual fund’s net asset value (NAV) (the net value of all assets within the 

mutual fund’s portfolio divided by the number of outstanding shares) should be 

identical to its market price but often, the market price of a closed end mutual fund 

(a fund with a fixed number of issued shares that can’t be altered) will trade either 

above or below its NAV. When this situation occurs and the fund is trading above this 

price, it is said to be trading at a premium; conversely, when the fund is trading 

below this price, it is said to be trading at a discount. 

160. Product sales force structure refers to a structure where each salesperson sells 

along product lines. It improves product knowledge and can lead to territorial 

conflicts. 

161. A specialty product is a product that certain consumers will actively seek to 

purchase because of unique characteristics or loyalty to specific brand. Consumers 

who seek specialty products know what they want and will spend the time and effort 

to get it. They t will not easily accept substitute products. 

162. Derivatives are financial contracts whose value is derived from some underlying 

asset. These assets can include equities and equity indices, bonds, loans, interest rate, 

exchange rates, commodities, residential and commercial mortgages and even 

catastrophes like earthquakes and hurricanes. The contracts come in many forms but 

the more common ones include options forward/futures and swaps. 

163. Closed-end funds have lower cash requirements than open-end fund because 

open-end fund allow investors to redeem their shares at any time. The number of 

shares a closed-end fund has is limited, closed-ended. 

164. The choice between high markups and high volume is a part of pricing 

decisions. High volumes and high gross margins are most important for retailers. 

165. The primary reason because of which many companies work to become the low 

cost producers in their industry is due to the fact that they can set lower prices that 

result in greater sales and profits. In general, low-cost producers utilize economics of 

scale in order to execute their strategy of low prices. If the achieved selling price can 

at least equal (or near) the average for the market, then the low cost producer will 

enjoy the best profits. 

166. Effects during maturity stage: 

 Slowdown in sales growth creates over capacity which leads to intensified 

competition. 

 Competitors try to find new segments/niches. 
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 Prices may decrease/advertising increase/trade deals increase/sales promo 

increases. 

 R & D spending increase discover new features/products improvements/line 

extensions. 

 Shake out may occur due to profits erosion in decaying maturity. Weak 

competition may withdraw. 

167. The law of demand states that “other things remaining the same, the demand for 

a commodity increases when its price falls and it decreases when its price increase.” 

Thus according to the law of demand there is an inverse relationship between price 

and quantity demanded, other things remaining the same. 

168. Perception may be defined as the process of acquiring, interpreting, selecting 

and organizing sensory information. The word perception comes from the Latin word 

capere, meaning “to take”; the prefix per means “completely”. In short, perception is 

a very complex cognitive process that yields a unique picture that may be quite 

different from reality. 

169. Single sourcing is the traditional Japanese purchasing policy of using only one 

supplier to purchase certain components, products, product groups or services. Key 

advantages of single sourcing when compared to multiple sourcing are: 

 May result in high level of Co-operation with the supplier(strategic Alliance) 

 Lower pricing due to consolidation of all requirements with one supplier. 

 May result in higher or more consistent quality. 

 Enabler for just-in-time 

 Frees up time to focus on buying other products or services 

 Supplier may provide a range of value added services 

 Lower administration, communication and negotiation efforts and costs 

 Easier to track down the source of problems as well as affected products in the 

event of a quality issue or product recall. 

170. Brand elements, sometimes called brand identities, are those trademarked 

devices that serve to identify and differentiate the brand. The main brand elements 

are- URLs, logos, symbols, character, spokespeople, slogans, jingles, package and 

signage. 

171. Concentrated marketing is a market coverage strategy in which a firm goes after 

a larger share of one or a few sub-markets. A truck producer might be an example of 

this strategy. With the concentrated approach (which generally appeals to companies 

with limited resources), the company goes after a larger share of a small market 

rather than a small share of a larger market. This method allows small companies to 
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get a foothold against larger, more resourceful competitors. The company is usually 

able to achieve a strong market position because of its greater knowledge of the 

segment needs and special requirements. The company may also achieve economics 

in the various 4P areas. However, the segment that the company selects for attention 

must be carefully chosen because “all the eggs are in one basket.” 

172. Penetration pricing can often increase both market share and sales volume. 

Additionally, the high sales volume can also lead to lower production costs and 

higher inventory turnover, both of which are positive for any firm with fixed 

overhead. Penetration pricing can often increase both market share and sales 

volume. Additionally, the high sales volume can also lead to lower production costs 

and higher inventory turnover, both of which are positive for any firm with fixed 

overhead. 

173. The interactions between buyers and sellers in a market give rise to the 

mechanisms of supply and demand and consequently, to the market price and 

quantities. In other words, in a market system the forces and interaction of supply 

and demand for each commodity determines what and how much to produce. 

174. Positioning is defined as the act of designing the company’s offering and image 

to occupy distinctive place in the mind of target market. A simple example of 

positioning would be- if I say an expensive TV, then it will be a Sony or a Samsung TV 

whereas if I say a cheaper or VFM TV, you might think of an Onida or a Videocon. 

That’s positioning. Why is it that you have called out these respective names only? 

That is because how the brands are positioned in your mind in terms of awareness. 

175. Private label brands are created and owned by business that operates in the 

distribution channel often referred to as “distributors”. Often these distributors are 

retailers. However, there are times when the retailer’s entire product range will be its 

own label. Own label branding if well carried out can often contributes to the 

consumer excellent value for money and provide the distributor with additional 

bargaining power when it comes to negotiating prices and terms with manufacture 

brands. 

176. Procurement is the purchase of goods and services at the best possible price to 

meet a purchaser’s demand in terms of quantity, quality, dimensions and site. 

177. The product life cycle concept is a useful conceptual framework within which the 

study of how firms can vary their marketing strategies take place. At different stages 

in the product life cycle, certain marketing strategies seem to be more appropriate 

than others. The life cycle concept also points to the different earning patterns of 

products or services at various points of time. It indicates that it is necessary to have 

a balanced portfolio of products services in terms of cash generating capabilities in 
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order to ensure steady sales and profits at all times. Since products will generate 

different cash flows and profits over their lives, it means that the firm has to 

constantly review its product mix, improve its product lines and introduce new 

products from time to time in order to maintain long run profits and stay in business. 

178. Product positioning refers to the place a product occupies in consumers’ minds 

on important attributes relative to competitive products. By understanding where 

consumers see a company’s product or brand today, a marketing manager can seek to 

change its future positioning in their minds. This requires product repositioning, 

changing the place a product occupies in the consumers’ mind relative to competitive 

products. 

179. The supply curve depicts the supplier’s positive relationship between price and 

quantity. A change in the price of a good or service, holding everything constant, will 

result in a movement along the supply curve. A change in the cost of an input will 

impact the cost of producing a good and will result in a shift in supply; supply will 

shift outward if costs decrease and will shift inward if costs increase. 

180. Personnel Differentiation: companies gain a strong advantage by having better 

trained people. These people should ideally possess characteristics such as 

competence, courtesy, reliability, creditability, responsiveness and communication. 

181. Wholesaling include all the activity involved in selling goods and services to 

those buying for resale or business use. Firms engaged primarily in wholesaling are 

called wholesalers. Wholesalers buy mostly from producers and sell mostly to 

retailers, industrial consumers and other wholesalers. Types of wholesalers are: 

merchant wholesalers, agents and brokers. 

182. Activities which are undertaken before the final operations are termed as 

upstream activities. Essentially, upstream marketing involves the “who, what, where, 

when, how and why” that needs to be considered before planning downstream 

implementation methods. 

183. Integrated marketing is about mixing and matching marketing activities to 

maximize their individual and collective effects. The two key themes are: many 

different marketing activities are employed to communicate and deliver value; 

secondly, all marketing activities are coordinated to maximize their joined effects. In 

other words, the design and implementation of any one marketing activity is done 

with all other activities in mind. 

184. Monetary and Non-Monetary are the two types of incentives. Incentives are 

those that incites or tends to incite the action or greater effort, as a reward offered for 

increased productivity. 
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185. Sales promotion is usually targeted toward either of the two distinctly different 

markets. Consumer sales promotion is targeted to the ultimate consumer market. 

Trade sales promotion is directed to the members of the marketing channel such as 

wholesalers and retailers. 

186. Marketing research can help the small business to identify and refine the 

segments that offer the greatest opportunities. Part of that process will be to identity 

segments that meet the requirements of measurability, substantiality, stability, 

accessibility, action-ability and differential response. 

187. According to the law of diminishing marginal utility, marginal utility declines 

with the increase in consumption of a good, whereas the total utility increases, but at 

a decreasing rate. 

188. Markets evolve through 4 stages – emergence (before a market materializes, it 

exists as a latent market); growth (if the new product sells well, new firms will enter 

the market, ushering in the market growth stage); maturity (eventually the 

competitors cover and serve all the major segments and the market enters the 

maturity stage);and decline (eventually the demand for the present products begin to 

decrease and the market enters the decline stage). 

189. Following are the tools or elements of promotion. They are also called elements 

of promotion mix: Advertising, sales promotion, personal selling and public relation. 

Personal selling is the most important of all the elements in terms of people 

employed, dollars spent and sales generated. 

190. Fore casting of short term financial requirement is concerned about 

arrangement of working capital. 

191. The purpose of market research is to gather data on customers. The collected 

data aids business decision making. This helps in reducing the risks involved in 

making these decisions. 

192. Marketing related service includes – advertising sale promotion, products 

development & testing, marketing research etc. It is adopted in financial & insurance 

service (banking, leasing brokerage, life and health insurance); entertainment service 

(movie channel, cinema, game parlors); and hospitality services – hotels & 

restaurants catering & home delivery. 

193. Mutual fund business from existing customers can be mobilized by 

telemarketing. Telemarketing refers to the business of marketing goods or services 

via telephone. It is the act of selling and promoting product or is a process to the 

prospective customers over phone. 
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194. The sole aim of marketing is to maximize the profit of the organization by 

increasing the volume of sales of the product. 

195. It is very important for an enterprise to change its products according to 

changing circumstances. It is an important objective of marketing. Without changing 

its strategy according to the circumstances, an enterprise can never achieve its 

objective and goal. 

196. The best promotional tool in any marketing is regional advertisements. For 

many, advertising is the most familiar and visible element of the promotion mix 

because it can convey rich and dynamic images and can establish and reinforce a 

distinctive brand identity. This helps marketers to establish a bond with customers 

and boost sales. Advertising is useful in communicating factual information about the 

product or reminding consumers to buy their favorite brand.  

197. Effective selling skills depends on sales call planning which includes setting 

objectives, designing sales call flow, describing the desired results, evaluating 

progress/adjust strategy and follow up. 

198. "Better products, Better value, Better living" is the tag line and mission 

statement of NIRMA.  

199. Target audience-home loans are offered to following individuals to own a 

residential property in India: salaried, professionals and self-employed. 

200. Market segmentation is the identification of portions of the market that are 

different from one another. Segmentation allows the firm to better satisfy the needs 

of its potential customers. 
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